-astening Parts
cargo



IMS

Verbindungstechnik

IMS Verbindungstechnik - Your specialist for fasteners

Since 1975 we are specialised in fasteners made
of plastic, metal and sheet metal. We supply auto-
motive suppliers, wholesale trade, ex- and impor-
ters, aerospace as well as a diversified industry
clientele.

Quality

We have a high quality standard in our compa-
ny, which is reflected in our products and process
flows. Our quality management system is up to
date and documented and certified by TUV SUD.

Products

We have extended our product range to over
40,000 different fastening parts. Our products,
made out of highest quality materials, are con-
stantly being updated to follow current norms and
ordinances.

Know-how

With decades of experience and expertise going
far beyond that of others, we are a reliable and
competent source for fastening technology.

Service

From the first enquiry and order up to the on-time
delivery of the product you need, we stay focused
on your wishes and requirements. Additionally we
offer you following services: personal consulting
on-site, solution of fastening problems, advice on
product-range design, customer-specific packa-
ging, assembly of parts, single-batch deliveries.

Just contact us and let our words become actions.
We are looking forward to the future challenges!

Our consultants would be glad to assist you by
offering a perfect fastening solution.

Looking for a fastening solution? We can help!



IMS

Verbindungstechnik

4 Content

Iveco 3 - 7
MAN 9 - 13
Mercedes Benz 15 - 36
Ford 37 - 46
AW 47 - 80
Fiat Prof 81 - 91
DAF 93 - 96
Scania 97 - 100
|
Greetings

We are pleased to introduce our catalogue to you.
We are even more pleased that you have already opened it.

Our ultimate goal is to provide you with a convenient solution as well as help with
fastening challenges.

This catalogue is all about clips and clamps. Take a look - maybe there is a fitting part
for you. Of course you can also get an overview of our extensive portfolio in our digital
catalogue on our website.

Even if you can’t find the product you're looking for in this catalogue, our competence
and ability to innovate allow us to create and finalize any challenge you may have for
us. We are happy to solve your fastening problem. Our in-house development depart-
ment will find the appropriate solution concept based on your needs.

Do you have questions? We are looking forward to assist you personally
in finding the perfect solution for your fastening problem.

Greetings from our headquarters in Neuenstein

Oliver Ganssler
Management Board




IMS

Verbindungstechnik

4 Notes




IMS

Verbindungstechnik

lveco

<
=2

<

A
Mercedes Benz

Ford

Fiat Prof

)
T

A

Scania



IMS

Verbindungstechnik

lveco

Scale 1:1

IMS no.: 02080110
Orig. no.: 17887187
Pict. no.: 1

IMS no.: 02083900
Orig. no.: 42344971

14592287
Pict. no.: 5

IMS no.: 1400119A
Orig. no.: 14569580
Pict. no.: 9

IMS no.: 17091470
Orig. no.: 14116890
Pict. no.: 13

IMS no.: 02080120
Orig. no.: 17887787
Pict. no.: 2

IMS no.: 02084140
Orig. no.: 17886687

Pict. no.: 6

IMS no.: 1400119B
Orig. no.: 14569680
Pict. no.: 10

IMS no.: 23011020
Orig. no.: 500355891
Pict. no.: 14

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:

Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

02080130
17887287
3

05008980
3802596

7

1400119D
14569980
11

23084000
500358569
15

IMS no.: 02083830
Orig. no.: 17887688
Pict. no.: 4

IMS no.: 05083740
Orig. no.: 3802675

Pict. no.: 8

IMS no.: 1400119E
Orig. no.: 14570080
Pict. no.: 12

IMS no.: 32082500
Orig. no.: 17892080
Pict. no.: 16



IMS

Verbindungstechnik

lveco

Scale 1:1
IMS no.: 32083190 IMS no.: 32083430 IMS no.: 32083810 IMS no.: 32083950
Orig. no.: 17894580 Orig. no.: 500382984 Orig. no.: 17895180 Orig. no.: 14215282
Pict. no.: 17 Pict. no.: 18 Pict. no.: 19 Pict. no.: 20
IMS no.: 3211083A IMS no.: 38033720 IMS no.: 38083640 IMS no.: 38083860
Orig. no.: 500389689 Orig. no.: 500326189 Orig. no.: 500339745 Orig. no.: 500382985
Pict. no.: 21 Pict. no.: 22 Pict. no.: 23 Pict. no.: 24
IMS no.: 38083870 IMS no.: 41091250 IMS no.: 62083850
Orig. no.: 500358567 Orig. no.: 500326896 Orig. no.: 504056662
Pict. no.: 25 Pict. no.: 26 Pict. no.: 27



IMS

Verbindungstechnik

lveco

Index, ordered by IMS-article numbers

IMS no. Orig. no. Product Description Vehicle Types Pict. no.
02080110 17887187 FIR TREE CLIP @ 6,5 MM PA 6 BLACK VARIOUS MODELS (INTERIOR PANELLING) 1
02080120 17887787 FIR TREE CLIP & 8,0 MM PA 6 BLACK VARIOUS MODELS (INTERIOR PANELLING) 2
02080130 17887287 FIR TREE CLIP & 6,5 MM PA 66 BLACK VARIOUS MODELS (INTERIOR PANELLING) 3
02083830 17887688 HOLE PLUG @ 6,5 MM PA 6 BLACK VARIOUS MODELS (INTERIOR PANELLING) 4
02083900 42344971, 14592287 HOLE PLUG @ 6,5 MM PA BLACK VARIOUS MODELS (INTERIOR PANELLING) 5
02084140 17886687 FIR TREE CLIP PA 66 BLACK HEAVY OFF ROAD 6
05008980 3802596 SPEED NUT ST. 4,8 MM ZINC-PLATED UNCO- | DAILY 7
LOURED PASSIVATED
05083740 3802675 SPEED NUT ST. 4,8 MM SELF-LOCKING DAILY 8
ZINC-PLATED UNCOLOURED PASSIVATED
1400119A 14569580 CABLE CLAMP @ 7,0 MM PA 6 NATURAL VARIOUS MODELS (WINDOW) 9
14001198 14569680 CABLE CLAMP @ 9,0 MM PA 6 GREY VARIOUS MODELS (Engine compartment) 10
1400119D 14569980 CABLE CLAMP @ 13,5 MM PA 6 PINK VARIOUS MODELS (Engine compartment) 11
1400119E 14570080 CABLE CLAMP @ 15,0 MM PA 601 BLUE VARIOUS MODELS (Engine compartment) 12
17091470 14116890 CAGE NUT M6 PLASTIC/ ZINC-NICKEL DAILY (DOOR/ DASHBOARD) 13
23011020 500355891 PLASTIC SPREAD RIVET BLACK UNIVERSAL 14
23084000 500358569 PLASTIC SPREAD RIVET BLACK UNIVERSAL 15
32082500 17892080 SCREW GROMMET ST. 4,8 MM PA 6 RED UNIVERSAL 16
32083190 17894580 SCREW GROMMET ST. 5,0 MM PA NATURAL | UNIVERSAL 17
32083430 500382984 SCREW GROMMET PA 6 YELLOW LIGHT 18
32083810 17895180 SCREW GROMMET ST. 3,5 MM PA 66 UNIVERSAL 19
NATURAL
32083950 14215282 SCREW GROMMET ST. 4,8 MM PA 66 BLUE UNIVERSAL 20
3211083A 500389689 SCREW GROMMET ST. 4,2/ 4,5 MM PA 66 FG | DAILY (INTERIOR PANELLING) 21
30 NATURAL
38033720 500326189 INTERIOR TRIM CLIP @& 8,0 - 8,4 MM POM DAILY (DOOR/ INTERIOR PANELLING) 22
BLACK/ NATURAL
38083640 500339745 INTERIOR TRIM CLIP POM NATURAL DAILY (LINING STRIP/ SIDE PANEL) 23
38083860 500382985 INTERIOR TRIM CLIP PA 6 NATURAL LIGHT 24
38083870 500358567 INTERIOR TRIM CLIP @ 6,5 MM PA 66 RED VARIOUS MODELS (INTERIOR PANELLING) 25
41091250 500326896 MOULDING CLIP GREY DAILY (LINING STRIP/ SIDE PANEL) 26
62083850 504056662 SCRIVET @ 8,0 MM PA 66 BLACK UNIVERSAL 27

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new



lveco

IM

S

Verbindungstechnik

Index, ordered by original numbers

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

Orig. no. IMS no. Product Description Vehicle Types Pict. no.
14116890 17091470 CAGE NUT M6 PLASTIC/ ZINC-NICKEL DAILY (DOOR/ DASHBOARD) 13
14215282 32083950 SCREW GROMMET ST. 4,8 MM PA 66 BLUE UNIVERSAL 20
14569580 1400119A CABLE CLAMP @ 7,0 MM PA 6 NATURAL VARIOUS MODELS (WINDOW) 9
14569680 1400119B CABLE CLAMP @ 9,0 MM PA 6 GREY VARIOUS MODELS (Engine compartment) 10
14569980 1400119D CABLE CLAMP @ 13,5 MM PA 6 PINK VARIOUS MODELS (Engine compartment) 11
14570080 1400119E CABLE CLAMP @ 15,0 MM PA 601 BLUE VARIOUS MODELS (Engine compartment) 12
14592287 02083900 HOLE PLUG @ 6,5 MM PA BLACK VARIOUS MODELS (INTERIOR PANELLING) 5
17886687 02084140 FIR TREE CLIP PA 66 BLACK HEAVY OFF ROAD 6
17887187 02080110 FIR TREE CLIP @ 6,5 MM PA 6 BLACK VARIOUS MODELS (INTERIOR PANELLING) 1
17887287 02080130 FIR TREE CLIP @ 6,5 MM PA 66 BLACK VARIOUS MODELS (INTERIOR PANELLING) 3
17887688 02083830 HOLE PLUG @ 6,5 MM PA 6 BLACK VARIOUS MODELS (INTERIOR PANELLING) 4
17887787 02080120 FIR TREE CLIP @ 8,0 MM PA 6 BLACK VARIOUS MODELS (INTERIOR PANELLING) 2
17892080 32082500 SCREW GROMMET ST. 4,8 MM PA 6 RED UNIVERSAL 16
17894580 32083190 SCREW GROMMET ST. 5,0 MM PA NATURAL | UNIVERSAL 17
17895180 32083810 SCREW GROMMET ST. 3,5 MM PA 66 UNIVERSAL 19
NATURAL
3802596 05008980 SPEED NUT ST. 4,8 MM ZINC-PLATED UNCO- | DAILY 7
LOURED PASSIVATED
3802675 05083740 SPEED NUT ST. 4,8 MM SELF-LOCKING DAILY 8
ZINC-PLATED UNCOLOURED PASSIVATED
42344971 02083900 HOLE PLUG @ 6,5 MM PA BLACK VARIOUS MODELS (INTERIOR PANELLING) 5
500326189 38033720 INTERIOR TRIM CLIP & 8,0 - 8,4 MM POM DAILY (DOOR/ INTERIOR PANELLING) 22
BLACK/ NATURAL
500326896 41091250 MOULDING CLIP GREY DAILY (LINING STRIP/ SIDE PANEL) 26
500339745 38083640 INTERIOR TRIM CLIP POM NATURAL DAILY (LINING STRIP/ SIDE PANEL) 23
500355891 23011020 PLASTIC SPREAD RIVET BLACK UNIVERSAL 14
500358567 38083870 INTERIOR TRIM CLIP @ 6,5 MM PA 66 RED VARIOUS MODELS (INTERIOR PANELLING) 25
500358569 23084000 PLASTIC SPREAD RIVET BLACK UNIVERSAL 15
500382984 32083430 SCREW GROMMET PA 6 YELLOW LIGHT 18
500382985 38083860 INTERIOR TRIM CLIP PA 6 NATURAL LIGHT 24
500389689 3211083A SCREW GROMMET ST. 4,2/ 4,5 MM PA 66 FG | DAILY (INTERIOR PANELLING) 21
30 NATURAL
504056662 62083850 SCRIVET @ 8,0 MM PA 66 BLACK UNIVERSAL 27

new




IMS

Verbindungstechnik

4 Notes




IMS

Verbindungstechnik

Iveco

<
=z

<

A
Mercedes Benz

Ford

Fiat Prof

)
T

A

Scania



IMS

Verbindungstechnik

| MAN

Scale 1:1

IMS no.: 0406203A IMS no.: 05000130 IMS no.. 0500191B IMS no.: 05005740
Orig. no.: 06131690027 Orig. no.: 06131890118 Orig. no.: 06131890112 Orig. no.: 06131890083
Pict.no.: 1 Pict. no.: 2 Pict. no.: 3 Pict. no.: 4

IMS no.: 0501241B IMS no.: 0503201E IMS no.: 05032290 IMS no.: 05069410
Orig. no.: 06131890078 Orig. no.: 06131890056 Orig. no.: 06131890108 Orig. no.: 81906850418
Pict. no.: 5 Pict. no.: 6 Pict. no.: 7 Pict. no.: 8

IMS no.: 06048080 IMS no.: 06048090 IMS no.: 06048100 IMS no.: 10045110
Orig. no.: 81906850411 Orig. no.: 81906850395 Orig. no.: 81906850453 Orig. no.: 06131890111
Pict. no.: 9 Pict. no.: 10 Pict. no.: 11 Pict. no.: 12

IMS no.: 10068640 IMS no.: 2302100C IMS no.: 33066430 IMS no.: 3706704A
Orig. no.: 81908200340 Orig. no.: 81922020032 Orig. no.: 81971030009 Orig. no.: 06438390080
Pict. no.: 13 Pict. no.: 14 Pict. no.: 15 Pict. no.: 16

10



IMS

Verbindungstechnik

I MAN
Scale 1:1




IMS

Verbindungstechnik

MAN

Index, ordered by IMS-article numbers

IMS no. Orig. no. Product Description Vehicle Types Pict. no.

0406203A 06131690027 RUBBER BLIND NUT M4 EPDM BLACK UNIVERSAL 1

05000130 06131890118 SPEED NUT ST. 4,8 MM ZINC-PLATED UNCO- | TGX, TGS, TGM 2
LOURED PASSIVATED

0500191B 06131890112 SPEED NUT ST. 4,2 MM METAL CONTAINING | UNIVERSAL 3
ANTI-CORROSION COATING 3.0 SILVER

05005740 06131890083 SPEED NUT ST. 4,2 MM STAINLESS STEEL UNIVERSAL 4
(1.4301)

0501241B 06131890078 SPEED NUT ST. 6,3 MM SELF-LOCKING UNIVERSAL 5
METAL CONTAINING ANTI-CORROSION
COATING BLACK LUBRICATED

0503201E 06131890056 SPEED NUT M6 METAL CONTAINING UNIVERSAL 6
ANTI-CORROSION COATING 2.2 BLACK
LUBRICATED

05032290 06131890108 SPEED NUT ST. 4,8 MM SELF-LOCKING UNIVERSAL 7
METAL CONTAINING ANTI-CORROSION
COATING 2.0 SILVER

05069410 81906850418 SPEED NUT M4 METAL CONTAINING UNIVERSAL 8
ANTI-CORROSION COATING 2.2 BLACK

06048080 81906850411 SPEED NUT PLASTIC 60x3,5x15 POM GREY DIVERSE PANELS INSIDE AND OUTSIDE 9

06048090 81906850395 SPEED NUT PLASTIC 50x3,5x8 POM BLUE DIVERSE PANELS INSIDE AND OUTSIDE 10

06048100 81906850453 SPEED NUT PLASTIC 50x5,0x8 POM YELLOW | DIVERSE PANELS INSIDE AND OUTSIDE 11

10045110 06131890111 QUICKY FOR T- BOLT @ 5,0 MM GEOMET ATTACHMENT OF INSULATED MATS 12
PLUS

10068640 81908200340 QUICKY @ 5,0 MM STAINLESS STEEL (1.4310) | ATTACHMENT OF SIDEMARKERS 13

2302100C 81922020032 PLASTIC SPREAD RIVET BLACK UNIVERSAL 14

33066430 81971030009 PLUG-IN CLIP METAL CONTAINING ANTI - 15
CORROSION COATING 3.0 SILVER

3706704A 06438390080 U CLIP 3,0 - 3,3 MM METAL CONTAINING UNIVERSAL 16
ANTI-CORROSION COATING SILVER

89048060 06131690022 BLIND RIVET NUT M8 ZINC-NICKEL WITH ATTACHMENT OF VARIOUS PARTS OUTSIDE | 17
COLLAR PA 66 BLACK (LIGHTS etc.))

89048070 06131690025 BLIND RIVET NUT M8 ZINC-NICKEL ATTACHMENT OF VARIOUS PARTS OUTSIDE | 18

(LIGHTS etc..)
99077300 06438390094 CURTAIN FASTENING BLACK UNIVERSAL 19

12

new

new

new

new

new



MAN

IM

S

Verbindungstechnik

Index, ordered by original numbers

- .

new

new

new

Orig. no. IMS no. Product Description Vehicle Types Pict. no.

06131690022 89048060 BLIND RIVET NUT M8 ZINC-NICKEL WITH ATTACHMENT OF VARIOUS PARTS OUTSIDE | 17
COLLAR PA 66 BLACK (LIGHTS etc..)

06131690025 89048070 BLIND RIVET NUT M8 ZINC-NICKEL ATTACHMENT OF VARIOUS PARTS OUTSIDE | 18

(LIGHTS etc..)

06131690027 0406203A RUBBER BLIND NUT M4 EPDM BLACK UNIVERSAL 1

06131890056 0503201E SPEED NUT M6 METAL CONTAINING UNIVERSAL 6
ANTI-CORROSION COATING 2.2 BLACK
LUBRICATED

06131890078 0501241B SPEED NUT ST. 6,3 MM SELF-LOCKING UNIVERSAL 5
METAL CONTAINING ANTI-CORROSION
COATING BLACK LUBRICATED

06131890083 05005740 SPEED NUT ST. 4,2 MM STAINLESS STEEL UNIVERSAL 4
(1.4301)

06131890108 05032290 SPEED NUT ST. 4,8 MM SELF-LOCKING UNIVERSAL 7
METAL CONTAINING ANTI-CORROSION
COATING 2.0 SILVER

06131890111 10045110 QUICKY FOR T- BOLT @ 5,0 MM GEOMET ATTACHMENT OF INSULATED MATS 12
PLUS

06131890112 0500191B SPEED NUT ST. 4,2 MM METAL CONTAINING | UNIVERSAL 3
ANTI-CORROSION COATING 3.0 SILVER

06131890118 05000130 SPEED NUT ST. 4,8 MM ZINC-PLATED UNCO- | TGX, TGS, TGM 2
LOURED PASSIVATED

06438390080 3706704A U CLIP 3,0 - 3,3 MM METAL CONTAINING UNIVERSAL 16
ANTI-CORROSION COATING SILVER

06438390094 99077300 CURTAIN FASTENING BLACK UNIVERSAL 19

81906850395 06048090 SPEED NUT PLASTIC 50x3,5x8 POM BLUE DIVERSE PANELS INSIDE AND OUTSIDE 10

81906850411 06048080 SPEED NUT PLASTIC 60x3,5x15 POM GREY DIVERSE PANELS INSIDE AND OUTSIDE

81906850418 05069410 SPEED NUT M4 METAL CONTAINING UNIVERSAL
ANTI-CORROSION COATING 2.2 BLACK

81906850453 06048100 SPEED NUT PLASTIC 50x5,0x8 POM YELLOW | DIVERSE PANELS INSIDE AND OUTSIDE 11

81908200340 10068640 QUICKY @ 5,0 MM STAINLESS STEEL (1.4310) | ATTACHMENT OF SIDEMARKERS 13

81922020032 2302100C PLASTIC SPREAD RIVET BLACK UNIVERSAL 14

81971030009 33066430 PLUG-IN CLIP METAL CONTAINING ANTI - 15
CORROSION COATING 3.0 SILVER

new

13



IMS

Verbindungstechnik

4 Notes




IMS

Verbindungstechnik

Iveco

<
=2

<

A
Mercedes Benz

Ford

Fiat Prof

)
T

A

Scania



IMS

Verbindungstechnik

Mercedes Benz

Scale 1:1

IMS no.: 0200080A
Orig. no.: A0009880328
Pict.no.: 1

IMS no.. 02025410
Orig. no.: A0019880325

Pict. no.: 5

IMS no.: 04026080
Orig. no.: A0049902897
Pict. no.: 9

IMS no.: 0200634A IMS no.: 02010120 IMS no.: 02025400

Orig. no.: A0019971786
Pict. no.: 2

IMS no.: 02025700
Orig. no.: A0029978886

Pict. no.: 6

IMS no.: 0406203A
Orig. no.: 06131690027
Pict. no.: 10

Orig. no.: A0009974686
Pict. no.: 3

IMS no.. 02025740
Orig. no.: A0029884081

Pict. no.: 7

IMS no.: 05000070
Orig. no.: A1409941045
Pict. no.: 11

16

Orig. no.: A0029975086
Pict. no.: 4

IMS no.: 0209128A
Orig. no.: A6389841661

A6389840061
Pict. no.: 8

IMS no.: 05000080
Orig. no.: A0009942545
Pict. no.: 12



IMS

Verbindungstechnik

Mercedes Benz

Scale 1:1
IMS no.: 05000120 IMS no.: 05000130 IMS no.: 05001010 IMS no.. 05001070
Orig. no.: A0009940545 Orig. no.: A0009947245 Orig. no.: A0009940845 Orig. no.: A0009941445
Pict. no.: 13 Pict. no.: 14 Pict. no.: 15 Pict. no.: 16

IMS no.: 05001910
Orig. no.: A0009942345
Pict. no.: 17

IMS no.: 05007750
Orig. no.: A0019943045
Pict. no.: 21

IMS no.: 05021280
Orig. no.: A1239941845
Pict. no.: 25

IMS no.: 0500420A
Orig. no.: A0029942645
Pict. no.: 18

IMS no.: 05009610
Orig. no.: A0039941745
Pict. no.: 22

IMS no.: 05024020
Orig. no.: A0019900091
Pict. no.: 26

IMS no.: 05004710
Orig. no.: A1239940045
Pict. no.: 19

IMS no.: 05009720
Orig. no.: A0029943945
Pict. no.: 23

IMS no.: 05024030
Orig. no.: A1239940845
Pict. no.: 27

IMS no.: 05006750
Orig. no.: A0019944445
Pict. no.: 20

IMS no.: 0500976A
Orig. no.: A0039944245
Pict. no.: 24

IMS no.:. 05024370
Orig. no.: A0039948145
Pict. no.: 28



IMS

Verbindungstechnik

| Mercedes Benz

Scale 1:1

IMS no.: 05024590
Orig. no.: A0039948745
Pict. no.: 29

IMS no.: 05024660
Orig. no.: A6389941145
Pict. no.: 33

IMS no.: 05025460
Orig. no.: A0049941845

A2019900991
Pict. no.: 37

IMS no.: 05025840
Orig. no.: A0049941645
Pict. no.: 41

IMS no.: 05024620
Orig. no.: A0039948545
Pict. no.: 30

IMS no.: 05024670
Orig. no.: A0039941245
Pict. no.: 34

IMS no.: 05025490
Orig. no.: A0049941345

Pict. no.: 38

IMS no.: 05026060
Orig. no.: A0049941745
Pict. no.: 42

IMS no.: 05024630
Orig. no.: A0039948345
Pict. no.: 31

IMS no.: 05025100
Orig. no.: A0039949345
Pict. no.: 35

IMS no.: 05025500
Orig. no.: A0049941545

Pict. no.: 39

IMS no.: 05032000
Orig. no.: A0029942045
Pict. no.: 43

18

IMS no.: 05024640
Orig. no.: A0029946145
Pict. no.: 32

IMS no.: 05025430
Orig. no.: A0049941445
Pict. no.: 36

IMS no.: 05025510
Orig. no.: A0049941245

Pict. no.: 40

IMS no.: 05032060
Orig. no.: A0029942445
Pict. no.: 44



IMS

Verbindungstechnik

Mercedes Benz

Scale 1:1
IMS no.: 05051860 IMS no.: 05060980 IMS no.: 05063720 IMS no.: 05064630
Orig. no.: A0009940645 Orig. no.: A0029941145 Orig. no.: A0049944545 Orig. no.: A0019946945
Pict. no.: 45 Pict. no.: 46 Pict. no.: 47 Pict. no.: 48
IMS no.: 05067580 IMS no.: 05068960 IMS no.: 05070930
Orig. no.: A0039948645 Orig. no.: A0039948945 Orig. no.: A0019906691
Pict. no.: 49 Pict. no.: 50 Pict. no.: 51

IMS no.: 12004670
Orig. no.: A0019978490
Pict. no.: 52

IMS no.: 12004680
Orig. no.: A0019978390
Pict. no.: 53

19



IMS

Verbindungstechnik

Mercedes Benz

Scale 1:1

IMS no.: 12024160
Orig. no.: A9019970190
Pict. no.: 54

IMS no.: 10007690 IMS no.: 13004900 IMS no.: 13024490 IMS no.: 13062600
Orig. no.: A0079944641 Orig. no.: A0004760536 Orig. no.: A0099880978 Orig. no.: A0079880378
Pict. no.: 55 Pict. no.: 56 Pict. no.: 57 Pict. no.: 58

IMS no.: 13064810 IMS no.: 13074610 IMS no.: 13075500

Orig. no.: A0039975690 Orig. no.: A0019958777 Orig. no.: A0009955114

Pict. no.: 59 Pict. no.: 60 Pict. no.: 61

IMS no.: 1400119C IMS no.: 1400119J IMS no.: 14004690 IMS no.: 16001650
Orig. no.: A0009956044 Orig. no.: A0009956144 Orig. no.: A0009955244 Orig. no.: A0009881778
Pict. no.: 62 Pict. no.: 63 Pict. no.: 64 Pict. no.: 65

20



IMS

Verbindungstechnik

Mercedes Benz

Scale 1:1

IMS no.: 20004640

IMS no.. 20000490
Orig. no.: A1239900136

IMS no.: 16066280
Orig. no.: 91403106203

Orig. no.: A0089888478

Pict. no.: 66 Pict. no.: 67 Pict. no.: 68

IMS no.: 20023660 IMS no.: 20026070 IMS no.: 20026090 IMS no.: 22023640
Orig. no.: A2019900536 Orig. no.: A0019903836 Orig. no.: N000000001454 Orig. no.: A0039900251
Pict. no.: 69 Pict. no.: 70 Pict. no.: 71 Pict. no.: 72

IMS no.: 23004920
Orig. no.: A0009900492
Pict. no.: 73

IMS no.. 2302100C
Orig. no.: 81922020032

Pict. no.: 77

IMS no.: 2300554B
Orig. no.: A0009906692
Pict. no.: 74

IMS no.: 23023820
QOrig. no.:
A2019900292/9051
Pict. no.: 78

IMS no.: 23011020
Orig. no.: 500355891
Pict. no.: 75

IMS no.: 2302382B
Orig. no.:
A2019900292/7C72
Pict. no.: 79

21

IMS no.: 23020420
Orig. no.: A1239900292
Pict. no.: 76

IMS no.: 23024730
Orig. no.: A6389840261

Pict. no.: 80



IMS

Verbindungstechnik

Mercedes Benz

Scale 1:1

IMS no.: 23025370
Orig. no.: A1249900492
Pict. no.: 81

IMS no.: 23044750
Orig. no.: A0009907892

Pict. no.: 85

IMS no.: 25025180
Orig. no.: A4149900051
Pict. no.: 89

IMS no.: 28063180
Orig. no.: A6685062240

Pict. no.: 93

IMS no.: 23025520 IMS no.: 23025830 IMS no.: 23040250

Orig. no.: A0009913940
Pict. no.: 82

IMS no.: 23052300
Orig. no.:
A0009905492/9051
Pict. no.: 86

IMS no.: 26050400
Orig. no.: A0049883378
Pict. no.: 90

IMS no.: 28068990
Orig. no.: A0009956114

Pict. no.: 94

Orig. no.: A1409900592
Pict. no.: 83

IMS no.: 23062370
Orig. no.: A0019900592

Pict. no.: 87

IMS no.: 28006780
Orig. no.: A0009951765
Pict. no.: 91

22

Orig. no.: A0019944145
Pict. no.: 84

IMS no.: 2500219D
Orig. no.: N910104006000

Pict. no.: 88

IMS no.: 28061780
Orig. no.: A0004760436
Pict. no.: 92

IMS no.: 32020550
Orig. no.: A0009881625

A6399880185
Pict. no.: 95



IMS

Verbindungstechnik

Mercedes Benz

Scale 1:1
IMS no.: 32023910 IMS no.: 32023920 IMS no.: 32025080 IMS no.: 32025560
Orig. no.: A6739880025 Orig. no.: A0009881225 Orig. no.: A0009888425 Orig. no.: A0009886325
Pict. no.: 96 Pict. no.: 97 Pict. no.: 98 Pict. no.: 99

IMS no.: 32025570
Orig. no.: A0009887725
Pict. no.: 100

IMS no.: 32025910
Orig. no.: A0019880225
Pict. no.: 104

IMS no.: 37006680
Orig. no.: A0019887678
Pict. no.: 108

IMS no.: 32025580
Orig. no.: A6399980185
Pict. no.: 101

IMS no.: 32052660
Orig. no.: A6389940845
Pict. no.: 105

IMS no.: 38020360
Orig. no.: A0039884178
Pict. no.: 109

IMS no.: 32025590
Orig. no.: A0099881178
Pict. no.: 102

IMS no.: 34022930
Orig. no.: A2019972281
Pict. no.: 106

IMS no.: 38022790
Orig. no.: A0059888278
Pict. no.: 110

IMS no.: 32025890
Orig. no.: A0009885425
Pict. no.: 103

IMS no.: 34023790
Orig. no.: A0019887681
Pict. no.: 107

IMS no.: 38023940
Orig. no.: A0089880978
Pict. no.: 111



IMS

Verbindungstechnik

Mercedes Benz

Scale 1:1

IMS no.: 38024750
Orig. no.: A6389840161
Pict. no.: 112

IMS no.: 38025530
Orig. no.: A0009912771
Pict. no.: 116

IMS no.: 38068570
Orig. no.: A0119887678
Pict. no.: 120

IMS no.: 41023900
Orig. no.: A1249900792
Pict. no.: 123

IMS no.: 38025090
Orig. no.: A0089887378
Pict. no.: 113

IMS no.: 38025660
Orig. no.: A6389880978
Pict. no.: 117

IMS no.: 40024560
Orig. no.: A0079887978
Pict. no.: 121

IMS no.: 41024530
Orig. no.: A0099889578
Pict. no.: 124

IMS no.: 38025230
Orig. no.: A0009910198
Pict. no.: 114

IMS no.: 38032210
Orig. no.: A0069884378
Pict. no.: 118

IMS no.: 41023550
Orig. no.: A1249971386
Pict. no.: 122

24

IMS no.: 38025450
Orig. no.: A0069885778
Pict. no.: 115

IMS no.: 38064000
Orig. no.: A4639880278
Pict. no.: 119

IMS no.: 41025880
Orig. no.: A6386900013
Pict. no.: 125



Mercedes Benz

IMS

Verbindungstechnik

Scale 1:1
IMS no.: 41061010
Orig. no.: A0079887178
Pict. no.: 126
IMS no.: 47025760
Orig. no.: N913023006001
Pict. no.: 129
IMS no.: 53000840

Orig. no.: A0019941345

Pict. no.:

133

IMS no.: 48025750
Orig. no.: N910105012007
Pict. no.: 130

IMS no.: 58022340
Orig. no.: A0019949845
Pict. no.: 134

25

IMS no.: 4700106B
Orig. no.: A0009903250
Pict. no.: 127

IMS no.: 48025860
Orig. no.: A0009904907
Pict. no.: 131

IMS no.: 58024680

Orig. no.: A0009945545

Pict. no.:

135

IMS no.:

Orig. no.:

Pict. no.:

IMS no.:

Orig. no.:

Pict. no.:

IMS no.:

Orig. no.:

Pict. no.:

47025170
N000000003477
128

48026120
A6014010270
132

60025870
A2019870440
136



IMS

Verbindungstechnik

Mercedes Benz

Scale 1:1

IMS no.: 62009430
Orig. no.: A6389840060

A0009916640
Pict. no.: 137

IMS no.: 71025270
Orig. no.: A0019889642

Pict. no.: 141

IMS no.: 96069390
Orig. no.: A0099880878
Pict. no.: 145

IMS no.: 99024920
Orig. no.: A6389840961
Pict. no.: 147

IMS no.: 62009560
Orig. no.: A0009904892

Pict. no.: 138

IMS no.: 71025390
Orig. no.:
A0019889742/5C38
Pict. no.: 142

IMS no.. 62023780
Orig. no.: A1239900592

Pict. no.: 139

IMS no.: 73025900
Orig. no.: A0019880942

Pict. no.: 143

IMS no.: 99024760
Orig. no.: A6389840861
Pict. no.: 146

26

IMS no.: 6206086A
Orig. no.: A0009908192

Pict. no.: 140

IMS no.: RS06614A
Orig. no.: A0009910170

Pict. no.: 144



Mercedes Benz

IM

Verbindungstechnik

Index, ordered by IMS-article numbers

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

IMS no. Orig. no. Product Description Vehicle Types Pict. no.

0200080A A0009880328 FIR TREE CLIP @ 8,0 - 8,5 MM PE LD BLACK T1 (601, 611), W460 1

0200634A A0019971786 FIR TREE CLIP & 6,0 - 6,2 MM PE LD BLACK LKW 2

02010120 A0009974686 FIRTREE CLIP@7,9-8,1 MM PE LD BLACK UNIMOG, SPRINTER (904) 3

02025400 A0029975086 HOLE PLUG @ 7,5 MM PE 603 LIGHT-GREY SPRINTER (901, 903, 904) 4

02025410 A0019880325 HOLE PLUG PA 66 BLACK VITO (639), SPRINTER (906) 5

02025700 A0029978886 FIR TREE CLIP @ 6,2 - 6,5 MM PA 66 BLACK SPRINTER 6

02025740 A0029884081 PLUG PA 66 BLACK FOR WELD STUD VANEO 7

0209128A A6389841661, HOLE PLUG @ 8,2 MM PA 66 DARK-GREY VITO (638) 8

A6389840061

04026080 A0049902897 BLIND RIVET 6,4 X 11,0 ALUMINIUM/ STEEL SPRINTER 9

0406203A 06131690027 RUBBER BLIND NUT M4 EPDM BLACK UNIVERSAL 10

05000070 A1409941045 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | 1922 AK, ACTROS, 3535 11
LOURED PASSIVATED

05000080 A0009942545 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | TRAVEGO (O 580), SETRA (S 415 HDH), MB 12
LOURED PASSIVATED TRAC 700, 814 KO, 914 KO

05000120 A0009940545 SPEED NUT ST. 4,8 MM ZINC-PLATED L 1921, L 608 E,L 708 E, O 370, O 371, 1626 L 13
COLOURLESS

05000130 A0009947245 SPEED NUT ST. 4,8 MM ZINC-PLATED UNCO- | VIANO, VITO, SPRINTER 14
LOURED PASSIVATED

05001010 A0009940845 SPEED NUT ST. 6,3 MM ZINC-PLATED 0 305G, 0404 15
COLOURLESS

05001070 A0009941445 SPEED NUT ST. 4,8 MM METAL ZINC-PLATED | TOURISMO, O 303 16
COLOURLESS

05001910 A0009942345 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | MBTRAC 17
LOURED PASSIVATED

0500420A A0029942645 SPEED NUT ST. 4,2 MM METAL CONTAINING | VANEO, SPRINTER 18
ANTI-CORROSION COATING 2.0 SILVER

05004710 A1239940045 SPEED NUT ST. 4,8 MM ZINC-PLATED UNCO- | VITO 19
LOURED PASSIVATED

05006750 A0019944445 SPEED NUT ST. 2,9 MM PHOSPHATED VANEO 20

05007750 A0019943045 SPEED NUT ST. 4,2 MM METAL CONTAINING | SPRINTER 21
ANTI-CORROSION COATING 3.0 SILVER

05009610 A0039941745 SPEED NUT M6 ZINC-PLATED UNCOLOURED | SPRINTER 22
PASSIVATED

05009720 A0029943945 SPEED NUT ST. 4,8 MM SELF-LOCKING LKW 23
METAL CONTAINING ANTI-CORROSION
COATING 2.0 SILVER

0500976A A0039944245 SPEED NUT M5 METAL CONTAINING VANEO 24
ANTI-CORROSION COATING 2.1 SILVER
LUBRICATED

05021280 A1239941845 SPEED NUT ST. 4,8 MM METAL CONTAINING | SPRINTER 25
ANTI-CORROSION COATING 2.0 SILVER

05024020 A0019900091 SPEED NUT M6 ZINC-PLATED UNCOLOURED | UNIMOG 26
PASSIVATED

05024030 A1239940845 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | VITO 27
LOURED PASSIVATED

05024370 A0039948145 SPEED NUT ST. 4,2 MM METAL CONTAINING | VIANO, VITO 28
ANTI-CORROSION COATING SILVER

05024590 A0039948745 SPEED NUT ST. 4,8 MM METAL CONTAINING | UNIMOG, SPRINTER (901, 902, 903, 904, 906) |29
ANTI-CORROSION COATING 2.0 SILVER

05024620 A0039948545 SPEED NUT ST. 4,8 MM METAL CONTAINING | VANEO, SPRINTER 30
ANTI-CORROSION COATING 2.0 SILVER

05024630 A0039948345 SPEED NUT ST. 4,2 MM METAL CONTAINING | VIANO, VITO 31
ANTI-CORROSION COATING 2.0 SILVER

05024640 A0029946145 SPEED NUT ST. 6,3 MM SELF-LOCKING SPRINTER 32
METAL CONTAINING ANTI-CORROSION
COATING 2.0 SILVER

05024660 A6389941145 SPEED NUT ST. 6,3 MM METAL CONTAINING |VITO 33
ANTI-CORROSION COATING 2.2 BLACK

new

27




IMS

Verbindungstechnik

Mercedes Benz

Index, ordered by IMS-article numbers

IMS no. Orig. no. Product Description Vehicle Types Pict. no.

05024670 A0039941245 SPEED NUT ST. 4,2 MM ZINC PLATED UNCO- | SPRINTER 34
LOURED PASSIVATED

05025100 A0039949345 SPEED NUT ST. 6,3 MM METAL CONTAINING | VIANO, VITO 35
ANTI-CORROSION COATING 2.0 SILVER

05025430 A0049941445 SPEED NUT M6 DELTA PROTEKT SILVER LKW, SPRINTER 36

05025460 A0049941845, SPEED NUT M8 DELTAPROTEKT SILVER CAPACITY, ACTROS 37

A2019900991

05025490 A0049941345 SPEED NUT M5 METAL CONTAINING VIANO, VITO 38
ANTI-CORROSION COATING SILVER

05025500 A0049941545 SPEED NUT M6 DELTA PROTEKT SILVER VITO, ACTROS 39

05025510 A0049941245 SPEED NUT M5 DELTA PROTEKT SILVER SPRINTER 40

05025840 A0049941645 SPEED NUT M6 SELF-LOCKING DELTA PRO- | LKW, SPRINTER 41
TEKT SILVER

05026060 A0049941745 SPEED NUT M6 SELF-LOCKING DELTA PRO- | LKW 42
TEKT

05032000 A0029942045 SPEED NUT M5 METAL CONTAINING ACTROS, CITAGO, 1944 S 43
ANTI-CORROSION COATING 2.2 BLACK

05032060 A0029942445 SPEED NUT ST. 4,2 MM METAL CONTAINING | ACTROS, VITO (639), AXOR, ATEGO, ATEGO |44
ANTI-CORROSION COATING 2.0 ANTHRA- 2
CITE

05051860 A0009940645 SPEED NUT ST. 4,8 MM ZINC-PLATED UNCO- | VIANO, VITO 45
LOURED PASSIVATED

05060980 A0029941145 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | VANEO 46
LOURED PASSIVATED

05063720 A0049944545 SPEED NUT ST. 4,2 MM METAL CONTAINING | VANEO, VIANO, VITO 47
ANTI-CORROSION COATING 2.0 SILVER

05064630 A0019946945 SPEED NUT ST. 4,2 MM METAL CONTAINING | SPRINTER 48
ANTI-CORROSION COATING 2.1 SILVER

05067580 A0039948645 SPEED NUT ST. 4,8 MM METAL CONTAINING | LKW 49
ANTI-CORROSION COATIN 2.0 SILVER

05068960 A0039948945 SPEED NUT ST. 4,8 MM CONTAINING METAL | VANEO 50
ANTI-CORROSION COATING SILVER

05070930 A0019906691 SPEED NUT M8 METAL CONTAINING LKW 51
ANTI-CORROSION COATING 2.0 SILVER

12004670 A0019978490 CABLE STRIP 376 X 7,6 MM PA 66 BLACK ACTROS, VITO, SPRINTER 52

12004680 A0019978390 CABLE STRIP 279 X 4,6 MM PA 66 BLACK VITO, SPRINTER 53

12024160 A9019970190 CABLE STRIP 180 X 4,6 MM WITH MOUNTING | SPRINTER 54
BASE DB PA 46 GREY

10007690 A0079944641 QUICKY @ 6,5-6,7 MM METAL CONTAINING | SPRINTER 55
ANTI-CORROSION COATING 2.0 SILVER

13004900 A0004760536 PIPE HOLDER 3-FOLD @ 4,75 MM POM VITO, SPRINTER 56
NATURAL

13024490 A0099880978 ROD HOLDER @ 20,0 - 23,0 MM PA 66 BLACK | VITO 57

13062600 A0079880378 ROD HOLDER @ 6,2 - 6,4 MM POM NATURAL | SPRINTER 58

13064810 A0039975690 PIPE HOLDER 2-FOLD @ 4,75 MM POM VIANO, VITO 59
BLACK

13074610 A0019958777 ROD HOLDER @ 10,0 - 11,0 MM PA 66 BLACK | VITO 60

13075500 A0009955114 PIPE HOLDER @ 6,0 - 12,0 MM PP BLACK SPRINTER 61

1400119C A0009956044 CABLE CLAMP PA 601 GREEN VANEO, SPRINTER 62

1400119J A0009956144 CABLE CLAMP @ 13,5 MM PA 601 BLACK SPRINTER 63

14004690 A0009955244 CABLE CLAMP @ 18,0 MM PA 601 WHITE SPRINTER 64

16001650 A0009881778 CABLE CLIP2 X @ 4,0 MM ZINC-PLATED SPRINTER 65
UNCOLOURED PASSIVATED

16066280 A0089888478 CABLE CLIP @5,0- 11,0 MM METAL CON- LKW 66
TAINING ANTI-CORROSION COATING 2.1
BLACK

20000490 91403106203 SCREW WITH WASHER 7976 6,3 X 19 VITO 67
WASHER 1,6 X 18 ZINC-PLATED UNCO-
LOURED

28

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new



Mercedes Benz

IM

S

Verbindungstechnik

Index, ordered by IMS-article numbers

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

IMS no. Orig. no. Product Description Vehicle Types Pict. no.
20004640 A1239900136 SCREW WITH WASHER 7976 4,8 X 19 VANEO 68
WASHER 1,0 X 15 ZINC-PLATED BLACK CR-3
20023660 A2019900536 SCREW WITH WASHER 7976 4,8 X 19 VANEO, VITO 69
WASHER 2,0 X 26 ZINC-PLATED BLACK
20026070 A0019903836 SCREW WITH WASHER 5,0 X 21 KW 8 VANEO 70
ZINC-NICKEL BLACK
20026090 N000000001454 SCREW WITH WASHER 4,8 X 19 KW 8 ACTROS, AXOR, SPRINTER 71
ZINC-NICKEL BLACK
22023640 A0039900251 PLASTIC NUT 5,0 PA 6 BLACK CITARO 72
23004920 A0009900492 PLASTIC SPREAD RIVET BLACK VITO (638), SPRINTER (901, 902, 903, 904, 73
905), ACTROS
2300554B A0009906692 PLASTIC SPREAD RIVET BLACK LKW 74
23011020 500355891 PLASTIC SPREAD RIVET BLACK UNIVERSAL 75
23020420 A1239900292 PLASTIC SPREAD RIVET BLACK VIANO, VITO 76
2302100C 81922020032 PLASTIC SPREAD RIVET BLACK UNIVERSAL 77
23023820 A2019900292/9051 PLASTIC SPREAD RIVET BLACK SPRINTER (905, 906), ACTROS, AXOR, 1735 |78
S, VARIO (670), ATEGO (958, 976)
23023828 A2019900292/7C72 | PLASTIC SPREAD RIVET BLACK SPRINTER (905, 906), ACTROS, AXOR, 1735 |79
S, VARIO (670), ATEGO (958, 976)
23024730 A6389840261 PLASTIC SPREAD RIVET BLACK VITO 80
23025370 A1249900492 PLASTIC SPREAD RIVET BLACK SENTRA 81
23025520 A0009913940 PLASTIC SPREAD RIVET BLACK VITO (639), SPRINTER (906) 82
23025830 A1409900592 PLASTIC SPREAD RIVET BLACK LKW, VANEO 83
23040250 A0019944145 PLASTIC SPREAD RIVET BLACK MBTRAC 84
23044750 A0009907892 PLASTIC SPREAD RIVET BLACK UNIVERSAL 85
23052300 A0009905492/9051 PLASTIC SPREAD RIVET BLACK SPRINTER (906) 86
23062370 A0019900592 PLASTIC SPREAD RIVET BLACK ACTROS, AXOR 87
2500219D N910104006000 METRIC FREE SPINNING WASHER NUT M6 VITO, SPRINTER 88
ZINC-PLATED
25025180 A4149900051 METRIC FREE SPINNING WASHER NUT M6 VITO, SPRINTER 89
ZINC-PLATED
26050400 A0049883378 EMBLEM FASTENER ATEGO (676, 952, 976), 0309, SPRINTER (313) | 90
28006780 A0009951765 TURNABLE PIPE AND CABLE HOLDER POM | UNIMOG 91
BLACK
28061780 A0004760436 TURNABLE PIPE AND CABLE HOLDER POM | UNIMOG, VANEO, VIANO, VITO 92
NATURAL
28063180 A6685062240 TURNABLE PIPE AND CABLE HOLDER PA 66 |VIANO, VITO 93
BLACK
28068990 A0009956114 TURNABLE PIPE AND CABLE HOLDER POM | VIANO, VITO 94
BLACK
32020550 A0009881625, SCREW GROMMET ST. 3,9 - 4,8 MM PA 66 ATEGO, CONECTO, VARIO, SPRINTER 95
A6399880185 NATURAL
32023910 A6739880025 SCREW GROMMET PA 6 FG 30 BLACK SPRINTER 96
32023920 A0009881225 SCREW GROMMET PA 66 NATURAL 0 405, O 530, S 415 NF ( SENTRA), O 303, 97
TOURINO, CONECTO, 0 402, O 305, O 407,
O 408
32025080 A0009888425 SCREW GROMMET ST. 3,9-4,8 MM PA6 FG | ATEGO 98
30 NATURAL
32025560 A0009886325 SCREW GROMMET @ 5,0 MM PA 6 FG 30 VITO, SPRINTER 99
BLACK
32025570 A0009887725 SCREW GROMMET @ 5,0 MM PA 6 FG 30 VANEO 100
NATURAL
32025580 A6399980185 SCREW GROMMET ST.3,9-4,2MMPA6FG |ATEGO, SPRINTER (901, 902, 904, 905, 906), |101
30 BLACK WITH SEALING AXOR, 2429 L, VITO (639)
32025590 A0099881178 SCREW GROMMET ST. 4,2 MM PA 66 FG 30 ATEGO, SPRINTER 102
NATURAL
32025890 A0009885425 SCREW GROMMET PA 66 BLACK VITO (639), SPRINTER (901, 902, 903, 905, 103
906)

29




IMS

Verbindungstechnik

Mercedes Benz

Index, ordered by IMS-article numbers

IMS no. Orig. no. Product Description Vehicle Types Pict. no.

32025910 A0019880225 SCREW GROMMET ST.3,9-4,2MMPA6FG |SPRINTER (901, 902, 903, 904, 905) 104
30 BLACK

32052660 A6389940845 SCREW GROMMET ST. 3,5 MM PA 601 BLACK | VITO 105

34022930 A2019972281 GROMMET TPE-E NATURAL VITO, SPRINTER 106

34023790 A0019887681 GROMMET PBT HI 460 WHITE VITO (638, 639) 107

37006680 A0019887678 U CLIP 1,5 - 2,0 MM ZINC-PLATED UNCO- VITO 108
LOURED PASSIVATED

38020360 A0039884178 INTERIOR TRIMCLIP @ 7,5 - 7,7 MM POM MBTRAC 109
NATURAL

38022790 A0059888278 INTERIOR TRIMCLIP @ 7,9 - 8,0 MM POM UNIMOG (408, 418), 2233 L, 2544 LS, 2033 LS |110
NATURAL

38023940 A0089880978 INTERIOR TRIM CLIP & 8,6 - 8,8 MM POM SPRINTER (901, 902, 903, 904, 905, 906) 111
NATURAL

38024750 A6389840161 INTERIOR TRIM CLIP YELLOW VITO 112

38025090 A0089887378 INTERIOR TRIM CLIP @ 8,0 - 8,2 MM POM VANEO 113
BLACK

38025230 A0009910198 INTERIOR TRIM CLIP @ 7,8 - 8,1 MM POM VANEO, SPRINTER 114
NATURAL WITH SEALING BLACK

38025450 A0069885778 INTERIOR TRIMCLIP @ 7,9 - 8,0 MM POM SPRINTER (901, 902, 903, 904, 905, 906) 115
LIGHT-GREEN

38025530 A0009912771 INTERIOR TRIM CLIP POM GREEN VITO (639), SPRINTER (906) 116

38025660 A6389880978 INTERIOR TRIM CLIP NATURAL VIANO, VITO 117

38032210 A0069884378 INTERIOR TRIM CLIP @ 8,1 - 8,5 MM POM VITO 118
NATURAL

38064000 A4639880278 INTERIOR TRIM CLIP @ 7,5 - 7,9 MM POM AXOR (950), 3235 B, ACTROS 119
BLACK

38068570 A0119887678 INTERIOR TRIM CLIP @ 8,1 - 8,5 MM POM VANEO (414), SPRINTER (906), VITO (638, 120
NATURE WITH SEALING BLACK 639)

40024560 A0079887978 MOULDING CLIP PHOSPHATED IMPREG- SPRINTER 121
NATED

41023550 A1249971386 MOULDING CLIP POM 500 NATURAL VANEO 122

41023900 A1249900792 MOULDING CLIP PA 66 BLACK VANEO 123

41024530 A0099889578 MOULDING CLIP POM 500 NATURAL WAXED | VITO 124

41025880 A6386900013 MOULDING CLIP BLACK WITH SEALING VANEO, VITO 125

41061010 A0079887178 MOULDING CLIP POM NATURAL VITO 126

4700106B A0009903250 SLOTTED NUT 14441 M8 X 1,25 KW 12 COP- T1 (BUS) 127
PER-PLATED 6MY

47025170 N000000003477 NUT M6 DELTA PROTEKT FOR TRUNK CAR- | SPRINTER 128
PETING

47025760 N913023006001 FLANGE NUT M6 PROPERTY CLASS 10 KW VITO, SPRINTER 129
10 DELTA PROTEKT

48025750 N910105012007 HEXAGONAL SCREW M12 X 1,5 X 30 KW 18 TRACK 1400, OH 1520, O 500, TRAVEGO (O 130
PROPERTY CLASS 10.9 DELTA TONE SILVER |580), L 1620, 1517, 1215, ECONIC, U 400, TM

170, VARIO (668, 670)

48025860 A0009904907 WHEEL BOLT M14 X 1,5 X 27 KW 17 VITO 131
DACROMET

48026120 A6014010270 WHEEL BOLT M14 X 1,5 X 34,0 MM KW 19 SPRINTER 132
ZINC-NICKEL PLATED

53000840 A0019941345 SEALING NUT M4 BLACK LP 709, LP 809 133

58022340 A0019949845 PRESTOLE CAGE NUT ST. 4,8 MM METAL VITO 134
CONTAINING ANTI-CORROSION COATING
SILVER

58024680 A0009945545 PRESTOLE CAGE NUT ST. 4,8 MM ZINC- SPRINTER 135
PLATED UNCOLOURED PASSIVATED

60025870 A2019870440 RUBBER BUFFER TPE BLACK VANEO, VITO, SPRINTER 136

62009430 A6389840060, SCRIVET @ 6,2 MM PA 6/ POM BLACK VANEO, VIANO, VITO 137

A0009916640

62009560 A0009904892 SCRIVET @ 8,0 - 8,2 MM PA 66 BLACK VIANO, VITO 138

62023780 A1239900592 SCRIVET @ 6,5 MM FOR PARTITION WALL LKW 139
WHEEL MOUNTING PA 6 BLACK

30

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new



Mercedes Benz

IMS

Verbindungstechnik

Index, ordered by IMS-article numbers

IMS no. Orig. no. Product Description Vehicle Types Pict. no.
6206086A A0009908192 SCRIVET @ 11,0 MM POM 906 GREY 412 D, SPRINTER (901, 902, 903, 904, 905) 140
71025270 A0019889642 TURNING PLUG POM GREY SPRINTER 141
71025390 A0019889742/5C38 TURNING PLUG POM DARK-GREY ATEGO (958, 976) 142
73025900 A0019880942 TURNING PLUG HOLDER POM NATURAL 0 301, 0 402, SPRINTER (901, 902, 903, 904) 143
RS06614A A0009910170 SPECIAL FASTENER METAL CONTAINING VITO, SPRINTER 144
ANTI-CORROSION COATING SILVER LUBRI-
CATED
96069390 A0099880878 CABLE-STRIP-ADAPTER ON EDGE METAL LKW 145
CONTAINING ANTI-CORROSION COATING
2.0 SILVER
99024760 A6389840861 CLIP NATURAL VITO 146
99024920 A6389840961 CLIP BLACK VITO 147

31

new

new

new

new

new




IMS

Verbindungstechnik

Mercedes Benz

Index, ordered by original numbers

Orig. no. IMS no. Product Description Vehicle Types Pict. no.
06131690027 0406203A RUBBER BLIND NUT M4 EPDM BLACK UNIVERSAL 10
500355891 23011020 PLASTIC SPREAD RIVET BLACK UNIVERSAL 75
81922020032 2302100C PLASTIC SPREAD RIVET BLACK UNIVERSAL 7
91403106203 20000490 SCREW WITH WASHER 7976 6,3 X 19 VITO 67
WASHER 1,6 X 18 ZINC-PLATED UNCO-
LOURED
A0004760436 28061780 TURNABLE PIPE AND CABLE HOLDER POM | UNIMOG, VANEO, VIANO, VITO 92
NATURAL
A0004760536 13004900 PIPE HOLDER 3-FOLD @ 4,75 MM POM VITO, SPRINTER 56
NATURAL
A0009880328 0200080A FIR TREE CLIP @ 8,0 - 8,5 MM PE LD BLACK T1 (601, 611), W460 1
A0009881225 32023920 SCREW GROMMET PA 66 NATURAL 0 405, O 530, S 415 NF ( SENTRA), O 303, 97
TOURINO, CONECTO, 0 402, O 305, O 407,
0408
A0009881625 32020550 SCREW GROMMET ST. 3,9 - 4,8 MM PA 66 ATEGO, CONECTO, VARIO, SPRINTER 95
NATURAL
A0009881778 16001650 CABLE CLIP 2 X @ 4,0 MM ZINC-PLATED SPRINTER 65
UNCOLOURED PASSIVATED
A0009885425 32025890 SCREW GROMMET PA 66 BLACK VITO (639), SPRINTER (901, 902, 903, 905, 103
906)
A0009886325 32025560 SCREW GROMMET @ 5,0 MM PA 6 FG 30 VITO, SPRINTER 99
BLACK
A0009887725 32025570 SCREW GROMMET @ 5,0 MM PA 6 FG 30 VANEO 100
NATURAL
A0009888425 32025080 SCREW GROMMET ST. 3,9 - 4,8 MM PA6 FG ATEGO 98
30 NATURAL
A0009900492 23004920 PLASTIC SPREAD RIVET BLACK VITO (638), SPRINTER (901, 902, 903, 904, 73
905), ACTROS
A0009903250 4700106B SLOTTED NUT 14441 M8 X 1,25 KW 12 COP- T1 (BUS) 127
PER-PLATED 6MY
A0009904892 62009560 SCRIVET @ 8,0 - 8,2 MM PA 66 BLACK VIANO, VITO 138
A0009904907 48025860 WHEEL BOLT M14 X 1,5 X 27 KW 17 VITO 131
DACROMET
A0009905492/9051 23052300 PLASTIC SPREAD RIVET BLACK SPRINTER (906) 86
A0009906692 2300554B PLASTIC SPREAD RIVET BLACK LKW 74
A0009907892 23044750 PLASTIC SPREAD RIVET BLACK UNIVERSAL 85
A0009908192 6206086A SCRIVET @ 11,0 MM POM 906 GREY 412 D, SPRINTER (901, 902, 903, 904, 905) 140
A0009910170 RS06614A SPECIAL FASTENER METAL CONTAINING VITO, SPRINTER 144
ANTI-CORROSION COATING SILVER LUBRI-
CATED
A0009910198 38025230 INTERIOR TRIMCLIP @ 7,8 - 8,1 MM POM VANEO, SPRINTER 114
NATURAL WITH SEALING BLACK
A0009912771 38025530 INTERIOR TRIM CLIP POM GREEN VITO (639), SPRINTER (906) 116
A0009913940 23025520 PLASTIC SPREAD RIVET BLACK VITO (639), SPRINTER (906) 82
A0009916640 62009430 SCRIVET @ 6,2 MM PA 6/ POM BLACK VANEO, VIANO, VITO 137
A0009940545 05000120 SPEED NUT ST. 4,8 MM ZINC-PLATED L 1921, L 608 E,L 708 E, O 370, O 371, 1626 L 13
COLOURLESS
A0009940645 05051860 SPEED NUT ST. 4,8 MM ZINC-PLATED UNCO- | VIANO, VITO 45
LOURED PASSIVATED
A0009940845 05001010 SPEED NUT ST. 6,3 MM ZINC-PLATED 0 305G, 0404 15
COLOURLESS
A0009941445 05001070 SPEED NUT ST. 4,8 MM METAL ZINC-PLATED | TOURISMO, O 303 16
COULOURLESS
A0009942345 05001910 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | MBTRAC 17
LOURED PASSIVATED
A0009942545 05000080 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | TRAVEGO (O 580), SETRA (S 415 HDH), MB 12
LOURED PASSIVATED TRAC 700, 814 KO, 914 KO
A0009945545 58024680 PRESTOLE CAGE NUT ST. 4,8 MM ZINC- SPRINTER 135
PLATED UNCOLOURED PASSIVATED

32

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new



Mercedes Benz

IM

S

Verbindungstechnik

Index, ordered by original numbers

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

Orig. no. IMS no. Product Description Vehicle Types Pict. no.

A0009947245 05000130 SPEED NUT ST. 4,8 MM ZINC-PLATED UNCO- | VIANO, VITO, SPRINTER 14
LOURED PASSIVATED

A0009951765 28006780 TURNABLE PIPE AND CABLE HOLDER POM | UNIMOG 91
BLACK

A0009955114 13075500 PIPE HOLDER @ 6,0 - 12,0 MM PP BLACK SPRINTER 61

A0009955244 14004690 CABLE CLAMP @ 18,0 MM PA 601 WHITE SPRINTER 64

A0009956044 1400119C CABLE CLAMP PA 601 GREEN VANEO, SPRINTER 62

A0009956114 28068990 TURNABLE PIPE AND CABLE HOLDER POM | VIANO, VITO 94
BLACK

A0009956144 1400119J CABLE CLAMP @ 13,5 MM PA 601 BLACK SPRINTER 63

A0009974686 02010120 FIRTREE CLIP @ 7,9 -8,1 MM PE LD BLACK UNIMOG, SPRINTER (904) 3

A0019880225 32025910 SCREW GROMMET ST.3,9-4,2MMPA6FG | SPRINTER (901, 902, 903, 904, 905) 104
30 BLACK

A0019880325 02025410 HOLE PLUG PA 66 BLACK VITO (639), SPRINTER (906) 5

A0019880942 73025900 TURNING PLUG HOLDER POM NATURAL 0 301, 0 402, SPRINTER (901, 902, 903, 904) 143

A0019887678 37006680 U CLIP 1,5-2,0 MM ZINC-PLATED UNCO- VITO 108
LOURED PASSIVATED

A0019887681 34023790 GROMMET PBT HI 460 WHITE VITO (638, 639) 107

A0019889642 71025270 TURNING PLUG POM GREY SPRINTER 141

A0019889742/5C38 71025390 TURNING PLUG POM DARK-GREY ATEGO (958, 976) 142

A0019900091 05024020 SPEED NUT M6 ZINC-PLATED UNCOLOURED | UNIMOG 26
PASSIVATED

A0019900592 23062370 PLASTIC SPREAD RIVET BLACK ACTROS, AXOR 87

A0019903836 20026070 SCREW WITH WASHER 5,0 X 21 KW 8 VANEO 70
ZINC-NICKEL BLACK

A0019906691 05070930 SPEED NUT M8 METAL CONTAINING LKW 51
ANTI-CORROSION COATING 2.0 SILVER

A0019941345 53000840 SEALING NUT M4 BLACK LP 709, LP 809 133

A0019943045 05007750 SPEED NUT ST. 4,2 MM METAL CONTAINING |SPRINTER 21
ANTI-CORROSION COATING 3.0 SILVER

A0019944145 23040250 PLASTIC SPREAD RIVET BLACK MBTRAC 84

A0019944445 05006750 SPEED NUT ST. 2,9 MM PHOSPHATED VANEO 20

A0019946945 05064630 SPEED NUT ST. 4,2 MM METAL CONTAINING |SPRINTER 48
ANTI-CORROSION COATING 2.1 SILVER

A0019949845 58022340 PRESTOLE CAGE NUT ST. 4,8 MM METAL VITO 134
CONTAINING ANTI-CORROSION COATING
SILVER

A0019958777 13074610 ROD HOLDER @ 10,0 - 11,0 MM PA 66 BLACK | VITO 60

A0019971786 0200634A FIR TREE CLIP & 6,0 - 6,2 MM PE LD BLACK LKW 2

A0019978390 12004680 CABLE STRIP 279 X 4,6 MM PA 66 BLACK VITO, SPRINTER 53

A0019978490 12004670 CABLE STRIP 376 X 7,6 MM PA 66 BLACK ACTROS, VITO, SPRINTER 52

A0029884081 02025740 PLUG PA 66 BLACK FOR WELD STUD VANEO 7

A0029941145 05060980 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | VANEO 46
LOURED PASSIVATED

A0029942045 05032000 SPEED NUT M5 METAL CONTAINING ACTROS, CITAGO, 1944 S 43
ANTI-CORROSION COATING 2.2 BLACK

A0029942445 05032060 SPEED NUT ST. 4,2 MM METAL CONTAINING |ACTROS, VITO (639), AXOR, ATEGO, ATEGO |44
ANTI-CORROSION COATING 2.0 ANTHRA- 2
CITE

A0029942645 0500420A SPEED NUT ST. 4,2 MM METAL CONTAINING | VANEO, SPRINTER 18
ANTI-CORROSION COATING 2.0 SILVER

A0029943945 05009720 SPEED NUT ST. 4,8 MM SELF-LOCKING LKW 23
METAL CONTAINING ANTI-CORROSION
COATING 2.0 SILVER

A0029946145 05024640 SPEED NUT ST. 6,3 MM SELF-LOCKING SPRINTER 32
METAL CONTAINING ANTI-CORROSION
COATING 2.0 SILVER

A0029975086 02025400 HOLE PLUG @ 7,5 MM PE 603 LIGHT-GREY SPRINTER (901, 903, 904) 4

A0029978886 02025700 FIR TREE CLIP & 6,2 - 6,5 MM PA 66 BLACK SPRINTER 6

new

33




IMS

Verbindungstechnik

Mercedes Benz

Index, ordered by original numbers

Orig. no. IMS no. Product Description Vehicle Types Pict. no.

A0039884178 38020360 INTERIOR TRIMCLIP @ 7,5 - 7,7 MM POM MBTRAC 109
NATURAL

A0039900251 22023640 PLASTIC NUT 5,0 PA 6 BLACK CITARO 72

A0039941245 05024670 SPEED NUT ST. 4,2 MM ZINC PLATED UNCO- | SPRINTER 34
LOURED PASSIVATED

A0039941745 05009610 SPEED NUT M6 ZINC-PLATED UNCOLOURED | SPRINTER 22
PASSIVATED

A0039944245 0500976A SPEED NUT M5 METAL CONTAINING VANEO 24
ANTI-CORROSION COATING 2.1 SILVER
LUBRICATED

A0039948145 05024370 SPEED NUT ST. 4,2 MM METAL CONTAINING | VIANO, VITO 28
ANTI-CORROSION COATING SILVER

A0039948345 05024630 SPEED NUT ST. 4,2 MM METAL CONTAINING | VIANO, VITO 31
ANTI-CORROSION COATING 2.0 SILVER

A0039948545 05024620 SPEED NUT ST. 4,8 MM METAL CONTAINING | VANEO, SPRINTER 30
ANTI-CORROSION COATING 2.0 SILVER

A0039948645 05067580 SPEED NUT ST. 4,8 MM METAL CONTAINING | LKW 49
ANTI-CORROSION COATIN 2.0 SILVER

A0039948745 05024590 SPEED NUT ST. 4,8 MM METAL CONTAINING | UNIMOG, SPRINTER (901, 902, 903, 904, 906) |29
ANTI-CORROSION COATING 2.0 SILVER

A0039948945 05068960 SPEED NUT ST. 4,8 MM CONTAINING METAL | VANEO 50
ANTI-CORROSION COATING SILVER

A0039949345 05025100 SPEED NUT ST. 6,3 MM METAL CONTAINING | VIANO, VITO 35
ANTI-CORROSION COATING 2.0 SILVER

A0039975690 13064810 PIPE HOLDER 2-FOLD @ 4,75 MM POM VIANO, VITO 59
BLACK

A0049883378 26050400 EMBLEM FASTENER ATEGO (676, 952, 976), 0309, SPRINTER (313) | 90

A0049902897 04026080 BLIND RIVET 6,4 X 11,0 ALUMINIUM/ STEEL SPRINTER 9

A0049941245 05025510 SPEED NUT M5 DELTA PROTEKT SILVER SPRINTER 40

A0049941345 05025490 SPEED NUT M5 METAL CONTAINING VIANO, VITO 38
ANTI-CORROSION COATING SILVER

A0049941445 05025430 SPEED NUT M6 DELTA PROTEKT SILVER LKW, SPRINTER 36

A0049941545 05025500 SPEED NUT M6 DELTA PROTEKT SILVER VITO, ACTROS 39

A0049941645 05025840 SPEED NUT M6 SELF-LOCKING DELTA PRO- | LKW, SPRINTER 41
TEKT SILVER

A0049941745 05026060 SPEED NUT M6 SELF-LOCKING DELTA PRO- | LKW 42
TEKT

A0049941845 05025460 SPEED NUT M8 DELTAPROTEKT SILVER CAPACITY, ACTROS 37

A0049944545 05063720 SPEED NUT ST. 4,2 MM METAL CONTAINING | VANEO, VIANO, VITO 47
ANTI-CORROSION COATING 2.0 SILVER

A0059888278 38022790 INTERIOR TRIM CLIP @ 7,9 - 8,0 MM POM UNIMOG (408, 418), 2233 L, 2544 LS, 2033 LS |110
NATURAL

A0069884378 38032210 INTERIOR TRIMCLIP @ 8,1 - 8,5 MM POM VITO 118
NATURAL

A0069885778 38025450 INTERIOR TRIM CLIP @ 7,9 - 8,0 MM POM SPRINTER (901, 902, 903, 904, 905, 906) 115
LIGHT-GREEN

A0079880378 13062600 ROD HOLDER @ 6,2 - 6,4 MM POM NATURAL | SPRINTER 58

A0079887178 41061010 MOULDING CLIP POM NATURAL VITO 126

A0079887978 40024560 MOULDING CLIP PHOSPHATED IMPREG- SPRINTER 121
NATED

A0079944641 10007690 QUICKY @ 6,5 -6,7 MM METAL CONTAINING SPRINTER 55
ANTI-CORROSION COATING 2.0 SILVER

A0089880978 38023940 INTERIOR TRIM CLIP & 8,6 - 8,8 MM POM SPRINTER (901, 902, 903, 904, 905, 906) 111
NATURAL

A0089887378 38025090 INTERIOR TRIM CLIP @ 8,0 - 8,2 MM POM VANEO 113
BLACK

A0089888478 16066280 CABLE CLIP @ 5,0 - 11,0 MM METAL CON- LKW 66
TAINING ANTI-CORROSION COATING 2.1
BLACK

34

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new



Mercedes Benz

IM

S

Verbindungstechnik

Index, ordered by original numbers

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

Orig. no. IMS no. Product Description Vehicle Types Pict. no.

A0099880878 96069390 CABLE-STRIP-ADAPTER ON EDGE METAL LKW 145
CONTAINING ANTI-CORROSION COATING
2.0 SILVER

A0099880978 13024490 ROD HOLDER @ 20,0 - 23,0 MM PA 66 BLACK | VITO 57

A0099881178 32025590 SCREW GROMMET ST. 4,2 MM PA 66 FG 30 ATEGO, SPRINTER 102
NATURAL

A0099889578 41024530 MOULDING CLIP POM 500 NATURAL WAXED | VITO 124

A0119887678 38068570 INTERIOR TRIM CLIP @ 8,1 - 8,5 MM POM VANEO (414), SPRINTER (906), VITO (638, 120
NATURE WITH SEALING BLACK 639)

A1239900136 20004640 SCREW WITH WASHER 7976 4,8 X 19 VANEO 68
WASHER 1,0 X 15 ZINC-PLATED BLACK CR-3

A1239900292 23020420 PLASTIC SPREAD RIVET BLACK VIANO, VITO 76

A1239900592 62023780 SCRIVET @ 6,5 MM FOR PARTITION WALL LKW 139
WHEEL MOUNTING PA 6 BLACK

A1239940045 05004710 SPEED NUT ST. 4,8 MM ZINC-PLATED UNCO- | VITO 19
LOURED PASSIVATED

A1239940845 05024030 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | VITO 27
LOURED PASSIVATED

A1239941845 05021280 SPEED NUT ST. 4,8 MM METAL CONTAINING | SPRINTER 25
ANTI-CORROSION COATING 2.0 SILVER

A1249900492 23025370 PLASTIC SPREAD RIVET BLACK SENTRA 81

A1249900792 41023900 MOULDING CLIP PA 66 BLACK VANEO 123

A1249971386 41023550 MOULDING CLIP POM 500 NATURAL VANEO 122

A1409900592 23025830 PLASTIC SPREAD RIVET BLACK LKW, VANEO 83

A1409941045 05000070 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | 1922 AK, ACTROS, 3535 11
LOURED PASSIVATED

A2019870440 60025870 RUBBER BUFFER TPE BLACK VANEO, VITO, SPRINTER 136

A2019900292/7C72  |2302382B PLASTIC SPREAD RIVET BLACK SPRINTER (905, 906), ACTROS, AXOR, 1735 |79

S, VARIO (670), ATEGO (958, 976)
A2019900292/9051 23023820 PLASTIC SPREAD RIVET BLACK SPRINTER (905, 906), ACTROS, AXOR, 1735 |78
S, VARIO (670), ATEGO (958, 976)

A2019900536 20023660 SCREW WITH WASHER 7976 4,8 X 19 VANEO, VITO 69
WASHER 2,0 X 26 ZINC-PLATED BLACK

A2019900991 05025460 SPEED NUT M8 DELTAPROTEKT SILVER CAPACITY, ACTROS 37

A2019972281 34022930 GROMMET TPE-E NATURAL VITO, SPRINTER 106

A4149900051 25025180 METRIC FREE SPINNING WASHER NUT M6 VITO, SPRINTER 89
ZINC-PLATED

A4639880278 38064000 INTERIOR TRIM CLIP @ 7,5 -7,9 MM POM AXOR (950), 3235 B, ACTROS 119
BLACK

A6014010270 48026120 WHEEL BOLT M14 X 1,5 X 34,0 MM KW 19 SPRINTER 132
ZINC-NICKEL PLATED

A6386900013 41025880 MOULDING CLIP BLACK WITH SEALING VANEO, VITO 125

A6389840060 62009430 SCRIVET @ 6,2 MM PA 6/ POM BLACK VANEO, VIANO, VITO 137

A6389840061 0209128A HOLE PLUG @ 8,2 MM PA 66 DARK-GREY VITO (638) 8

A6389840161 38024750 INTERIOR TRIM CLIP YELLOW VITO 112

A6389840261 23024730 PLASTIC SPREAD RIVET BLACK VITO 80

A6389840861 99024760 CLIP NATURAL VITO 146

A6389840961 99024920 CLIP BLACK VITO 147

A6389841661 0209128A HOLE PLUG @ 8,2 MM PA 66 DARK-GREY VITO (638) 8

A6389880978 38025660 INTERIOR TRIM CLIP NATURAL VIANO, VITO 117

A6389940845 32052660 SCREW GROMMET ST. 3,5 MM PA 601 BLACK | VITO 105

A6389941145 05024660 SPEED NUT ST. 6,3 MM METAL CONTAINING |VITO 33
ANTI-CORROSION COATING 2.2 BLACK

A6399880185 32020550 SCREW GROMMET ST. 3,9 - 4,8 MM PA 66 ATEGO, CONECTO, VARIO, SPRINTER 95
NATURAL

A6399980185 32025580 SCREW GROMMET ST.3,9-42MMPA6FG |ATEGO, SPRINTER (901, 902, 904, 905, 906), |101
30 BLACK WITH SEALING AXOR, 2429 L, VITO (639)

A6685062240 28063180 TURNABLE PIPE AND CABLE HOLDER PA 66 |VIANO, VITO 93
BLACK

new

35




IMS

Verbindungstechnik

Mercedes Benz

Index, ordered by original numbers

Orig. no. IMS no. Product Description Vehicle Types Pict. no.

A6739880025 32023910 SCREW GROMMET PA 6 FG 30 BLACK SPRINTER 96

A9019970190 12024160 CABLE STRIP 180 X 4,6 MM WITH MOUNTING | SPRINTER 54
BASE DB PA 46 GREY

N000000001454 20026090 SCREW WITH WASHER 4,8 X 19 KW 8 ACTROS, AXOR, SPRINTER 71
ZINC-NICKEL BLACK

N000000003477 47025170 NUT M6 DELTA PROTEKT FOR TRUNK CAR- | SPRINTER 128
PETING

N910104006000 2500219D METRIC FREE SPINNING WASHER NUT M6 VITO, SPRINTER 88
ZINC-PLATED

N910105012007 48025750 HEXAGONAL SCREW M12 X 1,5 X 30 KW 18 TRACK 1400, OH 1520, O 500, TRAVEGO (O 130
PROPERTY CLASS 10.9 DELTA TONE SILVER |580), L 1620, 1517, 1215, ECONIC, U 400, TM

170, VARIO (668, 670)

N913023006001 47025760 FLANGE NUT M6 PROPERTY CLASS 10 KW VITO, SPRINTER 129

10 DELTA PROTEKT

36

new

new

new

new

new

new



IMS

Verbindungstechnik

Iveco

<
=2

<

A
Mercedes Benz

Ford

Fiat Prof

)
T

A

Scania



IMS

Verbindungstechnik

Ford

Scale 1:1
IMS no.: 01030960 IMS no.: 0200080A IMS no.: 02005170 IMS no.: 02006180
Orig. no.: 6071353 Orig. no.: 1079129 Orig. no.: 6560532 Orig. no.: 6678518
Pict. no.: 1 Pict. no.: 2 Pict. no.: 3 Pict. no.: 4
IMS no.: 02033840 IMS no.: 0206023A IMS no.: 04033930 IMS no.: 04033980
Orig. no.: 6786759 Orig. no.: 6717617 Orig. no.: 6059465 Orig. no.: 07000412
Pict. no.: 5 Pict.no.: 6 Pict. no.: 7 Pict. no.: 8
IMS no.: 04034460 IMS no.: 05000070 IMS no.: 05001010 IMS no.: 05032050
Orig. no.: 1237076 Orig. no.: 1507925 Orig. no.: 6031840 ALT Orig. no.: 6089805
Pict. no.: 9 Pict. no.: 10 Pict. no.: 11 Pict. no.: 12

38



IMS

Verbindungstechnik

Ford

Scale 1:1

39



IMS

Verbindungstechnik

Ford

Scale 1:1

IMS no.: 13034110
Orig. no.: 6180955
Pict. no.: 22

IMS no.: 28060310
Orig. no.: 701611963
Pict. no.: 26

IMS no.: 28073940
Orig. no.: 1363141
Pict. no.: 28

IMS no.: 32033760
Orig. no.: 6549354
Pict. no.: 30

IMS no.:

QOrig. no.:

Pict. no.:

IMS no.:

Orig. no.:

Pict. no.:

13074610

23

32034130
1335795
31

IMS no.: 23034160 IMS no.:
Orig. no.: 01028521 QOrig. no.:
Pict. no.: 24 Pict. no.:
IMS no.: 40034000
Orig. no.: 1034869
Pict. no.: 27
IMS no.:
Orig. no.:
Pict. no.:
IMS no.: 37060190 IMS no.:
Orig. no.: 6029253 Orig. no.:
Pict. no.: 32 Pict. no.:

40

23034230
4855809
25

32032800
6119483
29

38033910
1020193
33



IMS

Verbindungstechnik

Ford

Scale 1:1
IMS no.: 47033780 IMS no.: 47034360 IMS no.: 47034490 IMS no.: 47034510 .
Orig. no.: 6111766 Orig. no.: 1366432 Orig. no.: 6518102 Orig. no.: 5114407
Pict. no.: 34 Pict. no.: 35 Pict. no.: 36 Pict. no.: 37
IMS no.: 47034520 IMS no.: 61034610 IMS no.: 62033340
Orig. no.: 1763869 Orig. no.: 2072363 neu Orig. no.: 6114021
Pict. no.: 38 Pict. no.: 39 Pict. no.: 40
IMS no.: 62033630 IMS no.: 64034620 IMS no.: 69814816 IMS no.: 89034020
Orig. no.: 6743363 Orig. no.: 1830728 Orig. no.: 6707417 Orig. no.: 06815611
Pict. no.: 41 Pict. no.: 42 Pict. no.: 43 Pict. no.: 44
IMS no.: 92033500 IMS no.: 92033510 IMS no.: 92033800
Orig. no.: 4069907 Orig. no.: 4069906 Orig. no.: 1045676/ ALT
Pict. no.: 45 Pict. no.: 46 Pict. no.: 47

41



IMS

Verbindungstechnik

I Ford
Scale 1:1




Ford

IMS

Verbindungstechnik

Index, ordered by IMS-article numbers

IMS no. Orig. no. Product Description Vehicle Types Pict. no.

01030960 6071353 HOLE PLUG @ 7,0 MM PHOSPHATED IMP- P100 1 new
REGNATED

0200080A 1079129 FIR TREE CLIP @ 8,0 - 8,5 MM PE LD BLACK TRANSIT 2 new

02005170 6560532 FIR TREE CLIP & 8,0 - 8,2 MM POM BLACK P100 3 new

02006180 6678518 HOLE PLUG @ 8,4 - 8,6 MM PA 66 BLACK TRANSIT 4 new

02033840 6786759 HOLE PLUG @& 8,4 - 8,6 MM POM BLACK TRANSIT 5 new

0206023A 6717617 FIR TREE CLIP & 7,8 - 8,2 MM POM BLACK TRANSIT 6 new

04033930 6059465 BLIND RIVET 4,0 X 8,0 ALUMINIUM/ STEEL FORD TRANSIT 7 new
BLACK

04033980 07000412 BLIND RIVET 4,8 X 20,5 ALU/ ALU TRANSIT, RANGER new

04034460 1237076 BLIND RIVET 4,8 X 11,0 STEEL/ STEEL ZINC- |P100 9 new
PLATED UNCOLOURED PASSIVATED

05000070 1507925 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | P100 10 new
LOURED PASSIVATED

05001010 6031840 ALT SPEED NUT ST. 6,3 MM ZINC-PLATED TRANSIT 11 new
COLOURLESS

05032050 6089805 SPEED NUT M8 SELF-LOCKING ZINC- TRANSIT 12 new
PLATED UNCOLOURED PASSIVATED

05033310 1138971 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | TRANSIT 13 new
LOURED PASSIVATED

05033970 1069428 SPEED NUT ST. 4,8 MM STAINLESS STEEL TRANSIT, RANGER 14 new
(1.4301)

05034500 4046114 SPEED NUT ST. 4,2 MM METAL CONTAINING | TRANSIT 15 new
ANTI-CORROSION COATING BLACK

10034170 1462015 CLAMPING RING @ 4,4 - 4,6 MM METAL TRANSIT 16 new
CONTAINING ANTI-CORROSION COATING
SILVER

10045110 1388634, 6715468 QUICKY FOR T- BOLT @ 5,0 MM GEOMET P100, TRANSIT 17 new
PLUS

11030490 1473931 COTTER PIN STAINLESS STEEL TRANSIT 18 new

12068120 1234663 CABLE STRIP BLACK + U-CLIP TRANSIT 19 new

12033990 6174115 CABLE STRIP 187 X 3,6 MM WITH MOUNTING | TRANSIT 20 new
BASE PA 66 BLACK

1230248B 1652967 CABLE STRIP 282 X 4,8 MM PA 66 BLACK FORD TRANSIT 21 new

13034110 6180955 ROD HOLDER @ 3,0 - 10,0 MM POM BLACK TRANSIT 22 new

13074610 - ROD HOLDER @ 10,0 - 11,0 MM PA 66 BLACK |- 23 new

23034160 01028521 PLASTIC SPREAD RIVET BLACK TRANSIT 24 new

23034230 4855809 PLASTIC SPREAD RIVET BLACK RANGER 25 new

28060310 701611963 TURNABLE PIPE AND CABLE HOLDER POM |- 26 new
BLACK

40034000 1034869 MOULDING CLIP STAINLESS STEEL (1.4310) | TRANSIT 27 new

28073940 1363141 TURNABLE PIPE AND CABLE HOLDER PA 66 | RANGER 28 new
BLACK

32032800 6119483 SCREW GROMMET BLACK FORD SIERRA TRANSIT 29 new

32033760 6549354 SCREW GROMMET ST. 6,3 MM PA 6 TRANSIT 30 new
NATURAL

32034130 1335795 SCREW GROMMET ST. 4,8 MM PA 66 FG 30 TRANSIT 31 new
NATURAL

37060190 6029253 U CLIP WITH HOLD DOWN DEVICE 1,25 - 1,75 | FORD TRANSIT, P100 32 new
MM METAL CONTAINING ANTI-CORROSION
COATING 2.1 BLACK

38033910 1020193 INTERIOR TRIM CLIP POM BLACK TRANSIT 33 new

47033780 6111766 WHEEL NUT M12 X 1,5 KW 19 CLOSED ZINC- | TRANSIT, RANGER 34 new
PLATED

47034360 1366432 WHEEL NUT M12 X 1,5 KW 19 WITH CAPTIVE | TRANSIT, RANGER 35 new
WASHER ZINC-PLATED

47034490 6518102 COLLAR NUT SELF-LOCKING M8 KW 13 TRANSIT 36 new
CLASS 8 COPPER-PLATED

43




IMS

Verbindungstechnik

Ford

Index, ordered by IMS-article numbers

IMS no. Orig. no. Product Description Vehicle Types Pict. no.

47034510 5114407 WHEEL NUT M12 X 1,5 KW 19 ZINC-PLATED | TRANSIT, RANGER 37
WITH CAP

47034520 1763869 WHEEL NUT M14 X 1,5 KW 21 ZINC-PLATED | TRANSIT 38

61034610 2072363 neu OIL DRAIN PLUG PA 6 FG 35 YELLOW Transit Tourneo Connect 2013 —now/ 1,6 | 39

SOHC Diesel and 1,51 SOHC Diesel

62033340 6114021 SCRIVET SQUARE 7,1 X 11,0 MM PA 66 FORD TRANSIT 40
BLACK

62033630 6743363 SCRIVET @ 5,6 - 5,8 MM PA BLACK P100 41

64034620 1830728 SEALING RING 15,47 X 3,53 MM FPM 80 TRANSIT 42
BLACK

69814816 6707417 SCREW WITH FLANGE HEAD 4,8 X 16 ZINC- | TRANSIT 43
PLATED BLACK*

89034020 06815611 RIVET NUT M5 ALUMINIUM TRANSIT 44

92033500 4069907 WINDOW CLIP FORD SHORT WHITE TRANSIT 45

92033510 4069906 WINDOW CLIP FORD LONG BLACK TRANSIT 46

92033800 1045676/ ALT WINDOW CLIP POM NATURAL TRANSIT 47

93190110 4327144 SCRIVET @ 7,9 - 8,1 MM POM BLACK RANGER 48

44

new

new

new

new

new

new

new

new

new

new

new

new



Ford

IM

S

Verbindungstechnik

Index, ordered by original numbers

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

Orig. no. IMS no. Product Description Vehicle Types Pict. no.

- 13074610 ROD HOLDER @& 10,0 - 11,0 MM PA 66 BLACK |- 23

01028521 23034160 PLASTIC SPREAD RIVET BLACK TRANSIT 24

06815611 89034020 RIVET NUT M5 ALUMINIUM TRANSIT 44

07000412 04033980 BLIND RIVET 4,8 X 20,5 ALU/ ALU TRANSIT, RANGER 8

1020193 38033910 INTERIOR TRIM CLIP POM BLACK TRANSIT 33

1034869 40034000 MOULDING CLIP STAINLESS STEEL (1.4310) | TRANSIT 27

1045676/ ALT 92033800 WINDOW CLIP POM NATURAL TRANSIT 47

1069428 05033970 SPEED NUT ST. 4,8 MM STAINLESS STEEL TRANSIT, RANGER 14
(1.4301)

1079129 0200080A FIR TREE CLIP & 8,0 - 8,5 MM PE LD BLACK TRANSIT 2

1138971 05033310 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | TRANSIT 13
LOURED PASSIVATED

1234663 12068120 CABLE STRIP BLACK + U-CLIP TRANSIT 19

1237076 04034460 BLIND RIVET 4,8 X 11,0 STEEL/ STEEL ZINC- | P100 9
PLATED UNCOLOURED PASSIVATED

1335795 32034130 SCREW GROMMET ST. 4,8 MM PA 66 FG 30 TRANSIT 31
NATURAL

1363141 28073940 TURNABLE PIPE AND CABLE HOLDER PA 66 | RANGER 28
BLACK

1366432 47034360 WHEEL NUT M12 X 1,5 KW 19 WITH CAPTIVE | TRANSIT, RANGER 35
WASHER ZINC-PLATED

1388634 10045110 QUICKY FOR T- BOLT @ 5,0 MM GEOMET P100, TRANSIT 17
PLUS

1462015 10034170 CLAMPING RING @ 4,4 - 4,6 MM METAL TRANSIT 16
CONTAINING ANTI-CORROSION COATING
SILVER

1473931 11030490 COTTER PIN STAINLESS STEEL TRANSIT 18

1507925 05000070 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | P100 10
LOURED PASSIVATED

1652967 1230248B CABLE STRIP 282 X 4,8 MM PA 66 BLACK FORD TRANSIT 21

1763869 47034520 WHEEL NUT M14 X 1,5 KW 21 ZINC-PLATED | TRANSIT 38

1830728 64034620 SEALING RING 15,47 X 3,53 MM FPM 80 TRANSIT 42
BLACK

2072363 neu 61034610 OIL DRAIN PLUG PA 6 FG 35 BLACK Transit Tourneo Connect 2013 —now/ 1,6 | 39

SOHC Diesel and 1,51 SOHC Diesel

4046114 05034500 SPEED NUT ST. 4,2 MM METAL CONTAINING | TRANSIT 15
ANTI-CORROSION COATING BLACK

4069906 92033510 WINDOW CLIP FORD LONG BLACK TRANSIT 46

4069907 92033500 WINDOW CLIP FORD SHORT WHITE TRANSIT 45

4327144 93190110 SCRIVET @ 7,9 - 8,1 MM POM BLACK RANGER 48

4855809 23034230 PLASTIC SPREAD RIVET BLACK RANGER 25

5114407 47034510 WHEEL NUT M12 X 1,5 KW 19 ZINC-PLATED | TRANSIT, RANGER 37
WITH CAP

6029253 37060190 U CLIP WITH HOLD DOWN DEVICE 1,25 - 1,75 | FORD TRANSIT, P100 32
MM METAL CONTAINING ANTI-CORROSION
COATING 2.1 BLACK

6031840 ALT 05001010 SPEED NUT ST. 6,3 MM ZINC-PLATED TRANSIT 11
COLOURLESS

6059465 04033930 BLIND RIVET 4,0 X 8,0 ALUMINIUM/ STEEL FORD TRANSIT 7
BLACK

6071353 01030960 HOLE PLUG @ 7,0 MM PHOSPHATED IMP- P100 1
REGNATED

6089805 05032050 SPEED NUT M8 SELF-LOCKING ZINC- TRANSIT 12
PLATED UNCOLOURED PASSIVATED

6111766 47033780 WHEEL NUT M12 X 1,5 KW 19 CLOSED ZINC- | TRANSIT, RANGER 34
PLATED

6114021 62033340 SCRIVET SQUARE 7,1 X 11,0 MM PA 66 FORD TRANSIT 40
BLACK

6119483 32032800 SCREW GROMMET BLACK FORD SIERRA TRANSIT 29

new

45




IMS

Verbindungstechnik

Ford

Index, ordered by original numbers

Orig. no. IMS no. Product Description Vehicle Types Pict. no.

6174115 12033990 CABLE STRIP 187 X 3,6 MM WITH MOUNTING | TRANSIT 20
BASE PA 66 BLACK

6180955 13034110 ROD HOLDER @ 3,0 - 10,0 MM POM BLACK TRANSIT 22

6518102 47034490 COLLAR NUT SELF-LOCKING M8 KW 13 TRANSIT 36
CLASS 8 COPPER-PLATED

6549354 32033760 SCREW GROMMET ST. 6,3 MM PA 6 TRANSIT 30
NATURAL

6560532 02005170 FIR TREE CLIP @ 8,0 - 8,2 MM POM BLACK P100 3

6678518 02006180 HOLE PLUG @ 8,4 - 8,6 MM PA 66 BLACK TRANSIT 4

6707417 69814816 SCREW WITH FLANGE HEAD 4,8 X 16 ZINC- | TRANSIT 43
PLATED BLACK*

6715468 10045110 QUICKY FOR T- BOLT @ 5,0 MM GEOMET P100, TRANSIT 17
PLUS

6717617 0206023A FIRTREECLIP @ 7,8 - 8,2 MM POM BLACK TRANSIT 6

6743363 62033630 SCRIVET @ 5,6 - 5,8 MM PA BLACK P100 41

6786759 02033840 HOLE PLUG @& 8,4 - 8,6 MM POM BLACK TRANSIT 5

701611963 28060310 TURNABLE PIPE AND CABLE HOLDER POM |- 26
BLACK

46

new

new

new

new

new

new

new

new

new

new

new

new



IMS

Verbindungstechnik

Iveco

<
=2

<

A
Mercedes Benz

Ford

Fiat Prof

)
T

A

Scania



IMS

Verbindungstechnik

VW

Scale 1:1

IMS no.: 00046730
Orig. no.: 443857847B4PK
Pict.no.: 1

IMS no.: 02007360
Orig. no.: 251867299
Pict. no.: 5

IMS no.: 02040410
Orig. no.: 801867299
Pict. no.: 9

IMS no.: 02045670
Orig. no.: 357867646
Pict. no.: 13

IMS no.: 00046740

Orig. no.: 443857847B4PK

Pict. no.: 2

IMS no.: 0200736A
Orig. no.: 2518672992VA
Pict. no.: 6

IMS no.: 02044730
Orig. no.: N90533301
Pict. no.: 10

IMS no.: 02047040
Orig. no.: N90861801
Pict. no.: 14

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

48

0200080A
N90201601
3

0200736B
25186729901C
7

02044790
1H0837719
1

02047460
7M0868563
15

IMS no.: 02005550
Orig. no.: 35786311901C
Pict. no.: 4

IMS no.: 02010120
Orig. no.: 191867199
Pict.no.: 8

IMS no.: 02045500
Orig. no.: 1H0867199
Pict. no.: 12

IMS no.: 02047750
Orig. no.: 3B0837111B41
Pict. no.: 16



VW

IMS

Verbindungstechnik

Scale 1:1

IMS no.: 0206222A
Orig. no.: 037133335B
Pict. no.: 17

IMS no.: 05000070
Orig. no.: N0154292
Pict. no.: 21

IMS no.: 05000190
Orig. no.: N0154322
Pict. no.: 25

IMS no.: 0500703A
Orig. no.: N90698703
Pict. no.: 29

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
QOrig. no.:
Pict. no.:

IMS no.:
QOrig. no.:
Pict. no.:

0300102C
N0114071
18

0500007D
N0154296
22

05000910
211837223
26

0500703B
N90698701
30

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

49

04043720
N90634901
19

0500011D
N0154457
23

0500107AW
N0154581
27

05007250
N0154931
31

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
QOrig. no.:
Pict. no.:

IMS no.:
QOrig. no.:
Pict. no.:

04047060
N90576301
20

05000140
N0154272
24

0500482A
N90368203
28

0500786A
N0154374
32




IMS

Verbindungstechnik

VW

Scale 1:1

IMS no.: 0500798A
Orig. no.: N90356203

Pict. no.: 33

IMS no.: 05040900
Orig. no.: N90057901
Pict. no.: 37

IMS no.: 05045100
Orig. no.: N90959101
Pict. no.: 41

IMS no.: 05061200
Orig. no.: N0154373
Pict. no.: 45

IMS no.: 05024640
Orig. no.: N90755701

Pict. no.: 34

IMS no.: 05042200
Orig. no.: N90074301
Pict. no.: 38

IMS no.: 05047650
Orig. no.: N0154487
Pict. no.: 42

IMS no.: 05061580
Orig. no.: N0154391
Pict. no.: 46

IMS no.: 0503201C
Orig. no.: N90168602

Pict. no.: 35

IMS no.: 0504373A
Orig. no.: N0154227
Pict. no.: 39

IMS no.: 05047960
Orig. no.: N90698901
Pict. no.: 43

IMS no.: 05062440
Orig. no.: 803805445B
Pict. no.: 47

50

IMS no.: 0503201E
Orig. no.: N90168604

N90168601
Pict. no.: 36

IMS no.: 05044100
Orig. no.: N0154491
Pict. no.: 40

IMS no.: 0504829W
Orig. no.: N90276701
Pict. no.: 44

IMS no.: 05062970
Orig. no.: N90526602
Pict. no.: 48



VW

IMS

Verbindungstechnik

Scale 1:1
IMS no.: 05064040
Orig. no.: N0154681
Pict. no.: 49
IMS no.: 05066660
Orig. no.: N0454271
Pict. no.: 53
IMS no.: 10009980
Orig. no.: N90577001
Pict. no.: 57
IMS no.: 1204396C
Orig. no.: N90666101
Pict. no.: 61

IMS no.: 0506414B
Orig. no.: N90698801
Pict. no.: 50

IMS no.: 05067030
Orig. no.: N90327501
Pict. no.: 54

IMS no.: 10045110
Orig. no.: N90335004
Pict. no.: 58

51

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

05065880
N90342503
51

0906274A
N0120578
55

10046330
N90796501
59

IMS no.: 0506588A
Orig. no.: N90342504
Pict. no.: 52

IMS no.: 1000176A
Orig. no.: N90116202
Pict. no.: 56

IMS no.: 10047090

Orig. no.: N90796502

Pict. no.:

60



IMS

Verbindungstechnik

VW

Scale 1:1

52



VW

IMS

Verbindungstechnik

Scale 1:1

IMS no.: 13007850

Orig. no.: N90681301
Pict. no.: 68

IMS no.: 13060160

Orig. no.: 701837199A
Pict. no.: 72

IMS no.: 13064700

Orig. no.: 6Q0131927
Pict. no.: 76

IMS no.: 13044770
Orig. no.: 171837199
Pict. no.: 69

IMS no.: 13062340
Orig. no.: N90681601
Pict. no.: 73

IMS no.: 13068800
Orig. no.: 1C0971845
Pict. no.: 77

53

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

13045130
N90681701
70

13064490
032972821
74

1306915A
N10576301
78

IMS no.: 13048180
Orig. no.: 811611797
Pict. no.: 71

IMS no.: 13064610
Orig. no.: 2D0971789F
Pict. no.: 75

IMS no.: 13072420

Orig. no.: N90681401

Pict. no.:

79



IMS

Verbindungstechnik

VW

Pict. no.: 83

IMS no.: 16065190
Orig. no.: 8A0971848C
Pict. no.: 87

IMS no.: 22045730
Orig. no.: 441955973B
Pict. no.: 90

Orig. no.: N90522101

Pict. no.: 85

IMS no.: 20000490
Orig. no.: 311821143
Pict. no.: 88

IMS no.: 2300154A
Orig. no.: N10259301
Pict. no.: 92

54

Scale 1:1
IMS no.: 13073030 IMS no.: 1400119L IMS no.: 1400119Q
Orig. no.: 7D0971848E Orig. no.: 181971847 Orig. no.: 6U0971739F
477971851
Pict. no.: 80 Pict. no.: 81 Pict. no.: 82
IMS no.: 14006700 IMS no.: 14043370 IMS no.: 1600902A IMS no.: 19060650
Orig. no.: 171971847 Orig. no.: 171971847A Orig. no.: 6Q0877244B Orig. no.: 251971739A

Pict. no.: 86

IMS no.: 22045280
Orig. no.: 171201969
Pict. no.: 89

IMS no.: 23003080
Orig. no.: N0385011 ALT
Pict. no.: 93



VW

IMS

Verbindungstechnik

Scale 1:1

IMS no.: 2300308A
Orig. no.: N0385012

Pict. no.: 94

IMS no.: 23020410
Orig. no.: N0385501

Pict. no.: 98

IMS no.: 23040250
Orig. no.: 171885767
Pict. no.: 102

IMS no.: 23073990
Orig. no.: 4D0863788
Pict. no.: 106

IMS no.: 23005540
Orig. no.: N0385031

Pict. no.: 95

IMS no.: 2302100C
Orig. no.: 161867299

16186729901C

Pict. no.: 99

IMS no.: 23046380
Orig. no.: N90536901
Pict. no.: 103

IMS no.: 25047860
Orig. no.: N90714303
Pict. no.: 107

55

IMS no.: 2300640A
Orig. no.: N0385053

N0385051
Pict. no.: 96

IMS no.: 23025520
Orig. no.: 2E1857784

Pict. no.: 100

IMS no.: 23052300
Orig. no.: N90359101
Pict. no.: 104

IMS no.: 25048250
Orig. no.: N90574801
Pict. no.: 108

IMS no.:

Pict. no.:

IMS no.:

23011020
Orig. no.: N10219501

97

23040120
Orig. no.: 171853695A

Pict. no.: 101

IMS no.: 23062350
Orig. no.: N10583501
Pict. no.: 105
IMS no.: 26044990
Orig. no.: 865853231A
Pict. no.: 109



IMS

Verbindungstechnik

VW

Scale 1:1

IMS no.: 28006780
Orig. no.: 2D0971789A
Pict. no.: 110

IMS no.: 28060310
Orig. no.: 701422921
Pict. no.: 113

IMS no.: 28062300
Orig. no.: 701611963
Pict. no.: 116

IMS no.: 28063860
Orig. no.: 441971848A
Pict. no.: 119

IMS no.: 28008660
Orig. no.: N10431201
Pict. no.: 111

IMS no.: 28062750

Orig. no.: 191955980

Pict. no.:

117

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

56

28060670
073201368M
114

28067680
N10291801
120

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
QOrig. no.:
Pict. no.:

28008690
N10335501
112

28062250
N10186701
115

28063080
N10436201
118



IMS

Verbindungstechnik

VW

Scale 1:1
IMS no.: 28068940 IMS no.: 28068950 IMS no.: 28073970
Orig. no.: N10446801 Orig. no.: N10275101 Orig. no.: N10436401
Pict. no.: 121 Pict. no.: 122 Pict. no.: 123

IMS no.: 28074230
Orig. no.: N10429001

Pict. no.: 124

IMS no.: 32034320 IMS no.: 32044010 IMS no.: 32044340 IMS no.: 32044880
Orig. no.: 701864445B Orig. no.: 811807577C Orig. no.: N90541001 Orig. no.: 165827592
Pict. no.: 125 Pict. no.: 126 Pict. no.: 127 Pict. no.: 128

IMS no.: 32044920 IMS no.: 32044940 IMS no.: 32044960 IMS no.: 32045460
Orig. no.: 357868143 Orig. no.: N90535301 Orig. no.: N90833801 Orig. no.: 1H0853120
Pict. no.: 129 Pict. no.: 130 Pict. no.: 131 Pict. no.: 132

57



IMS

Verbindungstechnik

VW

Scale 1:1

IMS no.: 32046510
Orig. no.: 533853139
Pict. no.: 133

IMS no.: 32047590
Orig. no.: 6N0809966A
Pict. no.: 137

IMS no.: 33047340
Orig. no.: 4A0867276A
Pict. no.: 141

IMS no.: 33066560
Orig. no.: 3B0867190
Pict. no.: 145

IMS no.: 32047140
Orig. no.: 155867199
Pict. no.: 134

IMS no.: 32048190
Orig. no.: 7M3915428
Pict. no.: 138

IMS no.: 33048450
Orig. no.: 4A0867276B
Pict. no.: 142

IMS no.: 3306799A
Orig. no.: 1C0867388
Pict. no.: 146

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

58

32047270
N10516801
135

32048260
N10318001
139

33064900
6N0867190
143

34040850
171853615A
147

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

32047480
N10507301
136

32160010
155809966
140

33066430
1J0858137B
144

3404085A
191853615A
148



IMS

Verbindungstechnik

VW

Scale 1:1
IMS no.: 34044080 IMS no.. 34061670 IMS no.: 34063170 IMS no.. 37005760
Orig. no.: 357853586D neu Orig. no.: 211853615 Orig. no.: 477857821 Orig. no.: 703885447
Pict. no.: 149 Pict. no.: 150 Pict. no.: 151 Pict. no.: 152 .
IMS no.: 37005790 IMS no.: 37008030 IMS no.: 37008290 IMS no.: 37044470
Orig. no.: N10307401 Orig. no.: 111837421 Orig. no.: 701821841 Orig. no.: 311881247
Pict. no.: 153 Pict. no.: 154 Pict. no.: 155 Pict. no.: 156
IMS no.: 37048380 IMS no.: 37068010
Orig. no.: 6Q0971845C Orig. no.: N90323501
Pict. no.: 157 Pict. no.: 158
IMS no.: 38032210 IMS no.: 38033730 IMS no.: 3804004A IMS no.: 38040430
Orig. no.: 2E0867059 Orig. no.: 7M0867299K Orig. no.: 823867299 Orig. no.: 171807249A
Pict. no.: 159 Pict. no.: 160 Pict. no.: 161 Pict. no.: 162

59



IMS

Verbindungstechnik

VW

Scale 1:1
IMS no.: 38042490
Orig. no.: 171867299B
Pict. no.: 163
IMS no.: 38044610
Orig. no.: 321867299B
Pict. no.: 167
IMS no.: 38046540
Orig. no.: 6K0868243
Pict. no.: 171
IMS no.: 38062390
Orig. no.: 703883932
Pict. no.: 175

IMS no.: 38044090
Orig. no.: 701853585
Pict. no.: 164

IMS no.: 38044710
Orig. no.: 703867299
Pict. no.: 168

IMS no.: 38047380
Orig. no.: 7H0843658A
Pict. no.: 172

IMS no.: 38067490
Orig. no.: N90855801
Pict. no.: 176

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

60

38044510
443867299
165

38046370
716868243
169

38047610
6U0867276A
173

38068570
2E1827649
177

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
QOrig. no.:
Pict. no.:

IMS no.:
QOrig. no.:
Pict. no.:

IMS no.:
QOrig. no.:
Pict. no.:

38044580
701867549
166

38046400
6Q0868243
170

38047930
7H0843514 ALT
174

39048120
N0143781
178



IMS

Verbindungstechnik

VW

Scale 1:1
IMS no.: 39048160 IMS no.: 40024560 IMS no.: 41040380 IMS no.: 41044740
Orig. no.: 1J0863265 Orig. no.: N90712801 Orig. no.: 803853139C Orig. no.: 191853733A
Pict. no.: 179 Pict. no.: 180 Pict. no.: 181 Pict. no.: 182 .
IMS no.: 41046410 IMS no.: 41047710 IMS no.: 47045720 IMS no.: 47045740
Orig. no.: 6K9853733A Orig. no.: 2E1867289D Orig. no.: N10209005 Orig. no.: N0221464
Pict. no.: 183 Pict. no.: 184 Pict. no.: 185 Pict. no.: 186
IMS no.: 47045990 IMS no.: 47046050 IMS no.: 48000520 IMS no.: 48045900
Orig. no.: N90226403 Orig. no.: N90085001 Orig. no.: 113707191C Orig. no.: N90740701
Pict. no.: 187 Pict. no.: 188 Pict. no.: 189 Pict. no.: 190
IMS no.: 48046240 IMS no.: 48046350 IMS no.: 48046450 IMS no.: 48046520
Orig. no.: N10309101 Orig. no.: N90775001 Orig. no.: 3A0601139 Orig. no.: N0159461
Pict. no.: 191 Pict. no.: 192 Pict. no.: 193 Pict. no.: 194

61



IMS

Verbindungstechnik

VW

Scale 1:1
IMS no.: 48046530
Orig. no.: N0438851
Pict. no.: 195
IMS no.: 48048460
Orig. no.: N10507202
Pict. no.: 199
IMS no.: 61047520

Orig. no.: 059103193

Pict. no.:

203

IMS no.: 48048040
Orig. no.: N90206103
Pict. no.: 196

IMS no.: 48048550

Orig. no.: N90775801

Pict. no.:

200

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

62

48048270
7016011398
197

61048500
018321377B
201

51042820
171807269B
204

IMS no.: 48048280
Orig. no.: 7M3601139B
Pict. no.: 198

IMS no.: 61048480
Orig. no.: 01v409057
Pict. no.: 202



IMS

Verbindungstechnik

VW

Scale 1:1
IMS no.: 61048530 IMS no.: 61044440 IMS no.: 61048570 IMS no.: 61048580
Orig. no.: N90281802 Orig. no.: N90813201 Orig. no.: N90856001 Orig. no.: N91167901
Pict. no.: 205 Pict. no.: 206 Pict. no.: 207 Pict. no.: 208 .
IMS no.: 61048690 IMS no.: 62045880 IMS no.: 62047530 IMS no.: 62048210
Orig. no.: N91103401 Orig. no.: 6K0819285 Orig. no.: 70186729901C Orig. no.: 701867299EU71
Pict. no.: 209 Pict. no.: 210 Pict. no.: 211 Pict. no.: 212
IMS no.: 6204821A IMS no.: 62075750 IMS no.: 64001216 IMS no.: 6424001A
Orig. no.: 701867299E9B9 Orig. no.: 7L6868307 Orig. no.: N0138182 Orig. no.: N0138492
Pict. no.: 213 Pict. no.: 214 Pict. no.: 215 Pict. no.: 216
IMS no.: 6427001A IMS no.: 69047970 IMS no.: 69048010 IMS no.: 71044700
Orig. no.: N0138271 Orig. no.: N90648704 Orig. no.: N90808201 Orig. no.: 701863841
Pict. no.: 217 Pict. no.: 218 Pict. no.: 219 Pict. no.: 220

63



IMS

Verbindungstechnik

VW

Scale 1:1

IMS no.: 74044450
Orig. no.: 701941141A
Pict. no.: 221

IMS no.: 75063440
Orig. no.: 1H0971848Q
Pict. no.: 223

IMS no.: 82001420
Orig. no.: N0138493
Pict. no.: 225

IMS no.: 91044860
Orig. no.: 3B0839723
Pict. no.: 229

IMS no.:

Orig. no.:

Pict. no.:

IMS no.:

Orig. no.: 6K0823717

Pict. no.:

82001822
N0138321
226

91045890

230

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

64

99045430

1H0837187A

222

75071440
4B0971848
224

91040070
133823717
227

91047700
7H0837485
231

IMS no.: 91044130
Orig. no.: 251823717
Pict. no.: 228

IMS no.: 73047840
Orig. no.: N90847501
Pict. no.: 232



IMS

Verbindungstechnik

VW

Scale 1:1

65



IMS

Verbindungstechnik

VW

Scale 1:1




VW

IM

S

Verbindungstechnik

Index, ordered by IMS-article numbers

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

IMS no. Orig. no. Product Description Vehicle Types Pict. no.
00046730 443857847B4PK BELT RIVET BASE POM BLACK CADDY, LT, T2, TRANSPORTER 1
00046740 443857847B4PK BELT RIVET TOP POM BLACK CADDY, LT, T2, TRANSPORTER 2
0200080A N90201601 FIR TREE CLIP @ 8,0 - 8,5 MM PE LD BLACK | CADDY, TRANSPORTER 3
02005550 35786311901C FIR TREE CLIP & 6,0 - 6,2 MM PE LD BLACK | CADDY 4
02007360 251867299 HOLE PLUG @ 8,1 - 8,3 MM PA 66 LIGHT- TYP2 5
GREY
0200736A 2518672992VA HOLE PLUG @ 8,1 - 8,3 MM PA 66 BEIGE TYP2 6
0200736B 25186729901C HOLE PLUG @ 8,1 - 8,3 MM PA 66 BLACK TYP 2 7
02010120 191867199 FIR TREE CLIP @ 7,9 - 8,1 MM PE LD BLACK CADDY, TRANSPORTER 8
02040410 801867299 HOLE PLUG @ 7,8 - 8,0 MM POM BLACK LT, TYP 2 9
02044730 N90533301 HOLE PLUG @ 7,9 - 8,1 MM PE BLACK CADDY 10
02044790 1H0837719 INTERIOR TRIM CLIP POM BLACK WITH TRANSPORTER 11
GROMMET PE-LD NATURAL
02045500 1H0867199 HOLE PLUG @ 10,5 - 10,7 MM PE LD BLACK TRANSPORTER 12
02045670 357867646 HOLE PLUG PA 66 BLACK LT, TRANSPORTER, CADDY 13
02047040 N90861801 HOLE PLUG FOR 5,0 THREADED STUD PA 66 | CADDY 14
BLACK
02047460 7M0868563 HOLE PLUG POM BLACK TRANSPORTER 15
02047750 3B0837111B41 HOLE PLUG PP BLACK CADDY 16
0206222A 037133335B HOLE PLUG @ 11,0 - 11,2 MM PE LD BLACK TRANSPORTER 17
0300102C N0114071 WELD NUT M8 UNCOATED CADDY, CRAFTER, TYP 2 18
04043720 N90634901 BLIND RIVET 4,0 X 14,0 ALUMINIUM/ STEEL TRANSPORTER 19
BLACK
04047060 N90576301 MULTIRANGE BLIND RIVET 4,0 X 9,5 ALUMI- | CADDY, TRANSPORTER 20
NIUM/ STEEL
05000070 N0154292 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | SAVEIRO 21
LOURED PASSIVATED
0500007D N0154296 SPEED NUT ST. 4,2 MM METAL CONTAINING | EUROVAN, TRANSPORTER 22
ANTI-CORROSION COATING BLACK LUBRI-
CATED
0500011D N0154457 SPEED NUT ST. 4,8 MM METAL CONTAINING |CRAFTER,TYP 2 23
ANTI-CORROSION COATING BLACK LUBRI-
CATED
05000140 N0154272 SPEED NUT ST. 4,8 MM ZINC-PLATED UNCO- |LT, TYP 2 24
LOURED PASSIVATED
05000190 N0154322 SPEED NUT ST. 6,3 MM ZINC-PLATED UNCO- | TYP 2 25
LOURED PASSIVATED
05000910 211837223 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | TYP 2 26
LOURED PASSIVATED
0500107AW N0154581 SPEED NUT ST. 4,8 MM ZINC-PLATED L80, TYP 2 27
YELLOW
0500482A N90368203 SPEED NUT M5 SELF-LOCKING METAL CON- | EUROVAN, L80, TRANSPORTER 28
TAINING ANTI-CORROSION COATING 2.2
BLACK LUBRICATED
0500703A N90698703 SPEED NUT ST. 4,2 MM SELF-LOCKING CADDY, CAMPMOBIL 29
METAL CONTAINING ANTI-CORROSION
COATING 2.2 BLACK LUBRICATED
0500703B N90698701 SPEED NUT ST. 4,2 MM SELF-LOCKING CADDY, TRANSPORTER 30
METAL CONTAINING ANTI-CORROSION
SILVER
05007250 N0154931 SPEED NUT ST. 3,5 MM HALF PHOSPHATED | EUROVAN, TRANSPORTER 31
IMPREGNATED
0500786A N0154374 SPEED NUT ST. 4,8 MM METAL CONTAINING |LT 32
ANTI-CORROSION COATING 2.2 BLACK
0500798A N90356203 SPEED NUT M5 SELF-LOCKING METAL CON- | SAVEIRO 33
TAINING ANTI-CORROSION COATING 2.2
SILVER LUBRICATED
05024640 N90755701 SPEED NUT ST. 6,3 MM SELF-LOCKING TRANSPORTER 34
METAL CONTAINING ANTI-CORROSION
COATING 2.0 SILVER

new

67




IMS

Verbindungstechnik

VW

Index, ordered by IMS-article numbers

IMS no. Orig. no. Product Description Vehicle Types Pict. no.

0503201C N90168602 SPEED NUT M6 METAL CONTAINING EUROVAN, TRANSPORTER 35
ANTI-CORROSION COATING 2.2 SILVER
LUBRICATED

0503201E N90168604, SPEED NUT M6 METAL CONTAINING CADDY, CAMPMOBIL, EUROVAN, LT, TRANS- | 36

N90168601 ANTI-CORROSION COATING 2.2 BLACK PORTER, TYP 2

LUBRICATED

05040900 N90057901 SPEED NUT ST. 4,2 MM PHOSPHATED IMP- CADDY 37
REGNATED

05042200 N90074301 SPEED NUT ST. 3,9 MM ZINC-PLATED UNCO- | TRANSPORTER 38
LOURED PASSIVATED

0504373A N0154227 SPEED NUT ST. 4,2 MM DELTA PROTEKT + CAMPMOBIL, L80, TRANSPORTER, TYP 2 39
DELTA SEAL LUBRICATED BLACK

05044100 N0154491 SPEED NUT ST. 6,3 MM METAL CONTAINING |LT 40
ANTI-CORROSION COATING 2.2 SILVER
LUBRICATED

05045100 N90959101 SPEED NUT FOR PT-SCREW METAL CON- CADDY 41
TAINING ANTI-CORROSION COATING 2.1
SILVER LUBRICATED

05047650 N0154487 SPEED NUT ST. 4,2 MM DELTA SEAL BLACK | SAVEIRO, TYP 2 42

05047960 N90698901 PRESTOLE NUT ST. 4,2 MM METAL CON- CADDY, TRANSPORTER 43
TAINING ANTI-CORROSION COATING 2.0
SILVER

0504829W N90276701 SPEED NUT CADDY, EUROVAN, TRANSPORTER 44

05061200 N0154373 SPEED NUT ST. 4,8 MM METAL CONTAINING |LT 45
ANTI-CORROSION COATING SILVER

05061580 N0154391 SPEED NUT ST. 4,8 MM METAL CONTAINING |LT, TYP 2 46
ANTI-CORROSION COATING BLACK

05062440 803805445B PRESTOLE NUT ST. 6,3 MM ROUND ZINC- CADDY 47
PLATED UNCOLOURED PASSIVATED

05062970 N90526602 SPEED NUT M4 SELF-LOCKING METAL CON- | TRANSPORTER 48
TAINING ANTI-CORROSION COATING BLACK
LUBRICATED

05064040 N0154681 SPEED NUT ST. 6,3 MM ZINC-PLATED UNCO- | EUROVAN, TRANSPORTER 49
LOURED PASSIVATED

0506414B N90698801 SPEED NUT ST. 4,2 MM SELF-LOCKING CADDY, CAMPMOBIL, SAVEIRO, TRANS- 50
METAL ANTI-CORROSION SILVER PORTER

05065880 N90342503 SPEED NUT M6 SELF-LOCKING METAL CON- | CADDY, EUROVAN, TRANSPORTER 51
TAINING ANTI-CORROSION COATING 2.2
SILVER LUBRICATED

0506588A N90342504 SPEED NUT M6 SELF-LOCKING METAL CON- | TRANSPORTER 52
TAINING ANTI-CORROSION COATING 2.2
BLACK LUBRICATED

05066660 N0454271 SPEED NUT ST. 4,2 MM METAL CONTAINING | TRANSPORTER 53
ANTI-CORROSION COATING 2.0 SILVER

05067030 N90327501 SPEED NUT M6 SELF-LOCKING METAL CON- | CADDY 54
TAINING ANTI-CORROSION COATING 2.0
SILVER

0906274A N0120578 SPRING CLIP ROUND 5,0 MM ZINC PLATED | CAMPMOBIL 55
PASSIVATED COLOURLESS

1000176A N90116202 QUICKY @ 4,0 MM ZINC-PLATED UNCO- TRANSPORTER 56
LOURED PASSIVATED

10009980 N90577001 QUICKY @ 11,5 MM - 12,0 MM PHOSPHATED CADDY 57
IMPREGNATED

10045110 N90335004 QUICKY FOR T- BOLT @ 5,0 MM GEOMET LT, TRANSPORTER 58
PLUS

10046330 N90796501 CLAMPING RING FOR T-BOLT @ 5,0 MM CADDY, EUROVAN, TRANSPORTER 59
GEOMET 321 SILVER

10047090 N90796502 CLAMPING RING FOR T-BOLT @ 5,0 MM CADDY, EUROVAN, TRANSPORTER 60
DELTA PROTEKT SILVER

1204396C N90666101 CABLE STRIP 210 X 4,8 MM WITH FOOT @ 6,5 | SAVEIRO, TYP 2 61
MM BLACK

68

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new



VW

IM

S

Verbindungstechnik

Index, ordered by IMS-article numbers

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

IMS no. Orig. no. Product Description Vehicle Types Pict. no.
12045040 N90205501 CABLE STRIP 140 X 4,5 MM WITH MOUNTING | CADDY, EUROVAN, TRANSPORTER, TYP 2 62
BASE PA 66 BLACK
12047100 3D0971838 CABLE STRIP 150 X 4,6 MM PA 66 BLACK TRANSPORTER 63
FOR COARSE THREAD BOLT
12008540 N0209063 CABLE STRIP 459 X 6,0 MM PA 66 BLACK LT 64
13009530 N10424501 ROD HOLDER @ 26,0 MM PA 66 BLACK LT 65
12044000 N90091101 CABLE STRIP 122 X 10,0 MM PA 66 BLACK TRANSPORTER 66
FOR T-BOLT
13006990 06B971845 ROD HOLDER 2-FOLD @ 4,0 - 6,0 MM POM CADDY 67
BLACK
13007850 N90681301 ROD HOLDER @ 6,8 - 7,4 MM PA 66 BLACK TRANSPORTER, TYP 2 68
13044770 171837199 DOOR LINKAGE CLIP @ 4,0 MM POM WHITE | TRANSPORTER, TYP 2 69
13045130 N90681701 ROD HOLDER @ 20,6 - 21,4 MM PA 66 BLACK | TRANSPORTER 70
13048180 811611797 PIPE HOLDER 2 FOLD @ 4,75 MM POM CADDY 71
NATURAL
13060160 701837199A ROD HOLDER @ 3,9 - 4,0 MM POM BLACK TRANSPORTER 72
13062340 N90681601 ROD HOLDER @ 15,5 - 16,1 MM PA 66 BLACK | EUROVAN, TRANSPORTER 73
13064490 032972821 ROD HOLDER @ 9,6 - 10,2 MM PA 622 BLACK | EUROVAN, TRANSPORTER 74
13064610 2D0971789F PIPE HOLDER 2-FOLD @ 4,75 + 6,0 MM POM LT 75
NATURAL
13064700 6Q0131927 ROD HOLDER 2-FOLD @ 4,75 MM PA 12 CADDY 76
BLACK
13068800 1C0971845 ROD HOLDER POM BLACK AMAROK 77
1306915A N10576301 ROD HOLDER 2-FOLD @ 10,0 MM PA 66 CADDY, CRAFTER 78
BLACK
13072420 N90681401 ROD HOLDER @ 9,6 - 10,2 MM PA 66 BLACK EUROVAN, TRANSPORTER 79
13073030 7D0971848E ROD HOLDER 2-FOLD @ 15,0 - 17,0 MM + 6,0 EUROVAN, TRANSPORTER 80
MM POM BLACK
1400119L 181971847 CABLE CLAMP @ 7,0 MM PA 6 BLACK SAVEIRO 81
1400119Q 6U0971739F, CABLE CLAMP PA 6 GREY CADDY, SAVEIRO 82
477971851
14006700 171971847 CABLE CLAMP PA 601 RED CADDY, SAVEIRO 83
14043370 171971847A CABLE CLAMP PA 6 NATURAL SAVEIRO 84
1600902A 6Q0877244B CABLE CLIP @ 9,0 - 10,0 MM METAL CON- TRANSPORTER 85
TAINING ANTI-CORROSION COATING 2.0
SILVER
19060650 251971739A ADHESIVE CLIP @ 8,0 MM ALUMINIUM LT 86
16065190 8A0971848C CABLE CLAMP @ 15,0 - 17,0 MM METAL CON- | LT 87
TAINING ANTI-CORROSION COATING 2.2
BLACK
20000490 311821143 SCREW WITH WASHER 7976 6,3 X 19 TRANSPORTER, TYP 2 88
WASHER 1,6 X 18 ZINC-PLATED UNCO-
LOURED
22045280 171201969 PLASTIC NUT M5 PA 6 GF 30 BLACK TRANSPORTER, TYP 2 89
22045730 441955973B PLASTIC NUT 5,0 PA 66 BLACK CADDY 90
22047800 N90522101 PLASTIC NUT 5,0 PA 66 BLACK LT, TRANSPORTER, EUROVAN 91
2300154A N10259301 PLASTIC SPREAD RIVET BLACK CRAFTER 92
23003080 N0385011 ALT PLASTIC SPREAD RIVET BLACK TRANSPORTER 93
2300308A N0385012 PLASTIC SPREAD RIVET BLACK TRANSPORTER 94
23005540 N0385031 PLASTIC SPREAD RIVET BLACK LT, CADDY 95
2300640A N0385053, N0385051 | PLASTIC SPREAD RIVET BLACK CADDY 96
23011020 N10219501 PLASTIC SPREAD RIVET BLACK LT 97
23020410 N0385501 PLASTIC SPREAD RIVET BLACK LT, TRANSPORTER, CADDY 98
2302100C 161867299, PLASTIC SPREAD RIVET BLACK TRANSPORTER 99
16186729901C
23025520 2E1857784 PLASTIC SPREAD RIVET BLACK CRAFTER 100
23040120 171853695A PLASTIC SPREAD RIVET BLACK TYP2 101
23040250 171885767 PLASTIC SPREAD RIVET BLACK LT 102

new

69




IMS

Verbindungstechnik

VW

Index, ordered by IMS-article numbers

IMS no. Orig. no. Product Description Vehicle Types Pict. no.

23046380 N90536901 PLASTIC SPREAD RIVET BLACK CADDY, CAMPMOBIL 103

23052300 N90359101 PLASTIC SPREAD RIVET BLACK CADDY 104

23062350 N10583501 PLASTIC SPREAD RIVET BLACK CADDY 105

23073990 4D0863788 PLASTIC SPREAD RIVET BLACK CAMPMOBIL, TRANSPORTER 106

25047860 N90714303 METRIC FREE SPINNING WASHER NUT M6 CADDY, TRANSPORTER 107
ZINC-NICKEL BLACK

25048250 N90574801 METRIC FREE SPINNING WASHER NUT M6 CADDY, TRANSPORTER 108
TIN-PLATED WITH RUBBER DISC BLACK

26044990 865853231A SEALING NUT FOR EMBLEM BLACK TYP2 109

28006780 2D0971789A TURNABLE PIPE AND CABLE HOLDER POM | CRAFTER 110
BLACK

28008660 N10431201 TURNABLE PIPE AND CABLE HOLDER POM | CADDY, TRANSPORTER 111
BLACK

28008690 N10335501 TURNABLE PIPE AND CABLE HOLDER POM | TRANSPORTER 112
BLACK

28060310 701422921 TURNABLE PIPE AND CABLE HOLDER POM | AMAROK, TRANSPORTER 113
BLACK

28060670 073201368M TURNABLE PIPE AND CABLE HOLDER POM | LT 114
BLACK

28062250 N10186701 TURNABLE PIPE AND CABLE HOLDER LT 115
2-FOLD POM BLACK

28062300 701611963 TURNABLE PIPE AND CABLE HOLDER POM | EUROVAN, TRANSPORTER 116
BLACK

28062750 191955980 TURNABLE PIPE AND CABLE HOLDER CADDY 117
BLACK

28063080 N10436201 TURNABLE PIPE AND CABLE HOLDER POM | CADDY 118
BLACK

28063860 441971848A TURNABLE PIPE AND CABLE HOLDER POM | SAVEIRO 119
BLACK

28067680 N10291801 TURNABLE PIPE AND CABLE HOLDER POM | LT 120
BLACK

28068940 N10446801 TURNABLE PIPE AND CABLE HOLDER PA 66 | CADDY 121
BLACK

28068950 N10275101 TURNABLE PIPE AND CABLE HOLDER POM | LT 122
BLACK

28073970 N10436401 TURNABLE PIPE AND ROD HOLDER PA 66/ CAMPMOBIL 123
POM BLACK

28074230 N10429001 TURNABLE PIPE AND ROD HOLDER POM/ PA | CAMPMOBIL, TRANSPORTER 124
12 BLACK

32034320 701864445B SCREW GROMMET ST. 4,2 MM PA 66 CAMPMOBIL 125
NATURAL

32044010 811807577C SCREW GROMMET ST. 4,8 MM PA 6 FG 30 CADDY 126
BLACK

32044340 N90541001 SCREW GROMMET ST. 4,2/ 4,8 MM PA 66 TRANSPORTER 127
COLOURLESS

32044880 165827592 SCREW GROMMET ST. 4,2 MM PA 66 BEIGE | AMAROK 128

32044920 357868143 SCREW GROMMET ST. 4,8 MM PA 6 GREY TRANSPORTER 129

32044940 N90535301 SCREW GROMMET ST. 3,9/ 4,2 MM PA 66 CADDY 130
GREY

32044960 N90833801 SCREW GROMMET PA 66 BLACK AMAROK, CADDY 131

32045460 1H0853120 SCREW GROMMET ST. 2,9 MM PA 6 GREY CADDY 132

32046510 533853139 SCREW GROMMET BLACK CADDY 133

32047140 155867199 SCREW GROMMET ST. 6,3 MM PA 66 CADDY 134
NATURAL

32047270 N10516801 SCREW GROMMET ST. 4,8 MM PA 6 CAMPMOBIL 135
NATURAL WITH RUBBER LIP BLACK

32047480 N10507301 SCREW GROMMET PA 6 MF 40 BROWN WITH | CADDY 136
RUBBER LIP BLACK

32047590 6N0809966A SCREW GROMMET ST. 4,8 MM PA 6 FG 30 SAVEIRO 137
BLACK

70

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new



VW

IM

S

Verbindungstechnik

Index, ordered by IMS-article numbers

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

IMS no. Orig. no. Product Description Vehicle Types Pict. no.

32048190 7M3915428 SCREW GROMMET PA 6 BLACK TRANSPORTER 138

32048260 N10318001 SCREW GROMMET NATURAL CRAFTER 139

32160010 155809966 SCREW GROMMET ST. 4,2 MM PA 66 CADDY 140
NATURAL

33047340 4A0867276A PLUG-IN CLIP GEOMET CAMPMOBIL 141

33048450 4A0867276B PLUG-IN CLIP GEOMET CADDY 142

33064900 6N0867190 PLUG-IN CLIP PHOSPHATED IMPREGNATED | CADDY 143

33066430 1J0858137B PLUG-IN CLIP METAL CONTAINING ANTI CAMPMOBIL 144
CORROSION COATING 3.0 SILVER

33066560 3B0867190 PLUG-IN CLIP PHOSPHATED PAINTED TRANSPORTER 145
YELLOW

3306799A 1C0867388 PLUG-IN CLIP ZINC-PLATED UNCOLOURED | CADDY, CAMPMOBIL 146
PASSIVATED

34040850 171853615A GROMMET PE LD BLACK EUROVAN, TRANSPORTER, LT, TYP 2 147

3404085A 191853615A GROMMET PE LD BLUE TRANSPORTER, TYP 2 148

34044080 357853586D neu GROMMET TPE-E 55 BLACK EUROVAN, TRANSPORTER 149

34061670 211853615 GROMMET PE 181 NATURAL CADDY, TYP 2, TRANSPORTER 150

34063170 477857821 GROMMET PE LD NATURAL CADDY 151

37005760 703885447 U CLIP 3,0 - 4,0 MM PHOSPHATED IMPREG- EUROVAN, TRANSPORTER 152
NATED

37005790 N10307401 U CLIP 2,8 - 3,0 MM METAL CONTAINING EUROVAN, TRANSPORTER 153
ANTI-CORROSION COATING 2.2 BLACK

37008030 111837421 DOUBLE U CLIP PHOSPHATED PAINTED TYP 2 154
BLACK IMPREGNATED

37008290 701821841 U CLIP 4,5 - 6,5 MM METAL CONTAINING EUROVAN, TRANSPORTER 155
ANTI-CORROSION COATING 2.2 BLACK

37044470 311881247 U CLIP 2,5 MM PHOSPHATED IMPREGNATED | CADDY, TYP 2, TRANSPORTER 156

37048380 6Q0971845C U-CLIP SPECIAL METALLIC CORROSION CADDY 157
PROTECTION COATED BLACK

37068010 N90323501 DOUBLE U CLIP METAL CONTAINING TRANSPORTER 158
ANTI-CORROSION COATING 2.2 BLACK

38032210 2E0867059 INTERIOR TRIM CLIP @ 8,1 - 8,5 MM POM CRAFTER 159
NATURAL

38033730 7M0867299K INTERIOR TRIM CLIP & 8,0 - 8,2 MM POM CAMPMOBIL 160
YELLOW

3804004A 823867299 INTERIOR TRIM CLIP @ 7,8 - 8,0 MM PA 66 TYP2 161
BLACK

38040430 171807249A INTERIOR TRIM CLIP @ 8,2 - 8,2 MM PA 66 TYP2 162
NATURAL

38042490 171867299B INTERIOR TRIM CLIP @ 7,9 MM PA 66 LT, CADDY, EUROVAN, TRANSPORTER, TYP | 163
NATURAL 2

38044090 701853585 INTERIOR TRIM CLIP POM 309 NATURAL TRANSPORTER 164

38044510 443867299 INTERIOR TRIM CLIP @ 8,0 MM POM TRANSPORTER 165
NATURAL

38044580 701867549 INTERIOR TRIMCLIP @ 8,1 - 8,3 MM POM TRANSPORTER 166
BLACK

38044610 321867299B INTERIOR TRIM CLIP @ 7,0 - 7,2 MM PA 66 TRANSPORTER 167
NATURAL

38044710 703867299 INTERIOR TRIM CLIP @ 7,8 - 8,0 MM PA 66 TRANSPORTER 168
BLACK

38046370 70L6868243 INTERIOR TRIM CLIP POM/ PA 66 BLACK CADDY, CAMPMOBIL 169

38046400 6Q0868243 INTERIOR TRIM CLIP POM/ PA 66 BLACK CRAFTER 170

38046540 6K0868243 INTERIOR TRIM CLIP POM BLACK CADDY 171

38047380 7H0843658A INTERIOR TRIM CLIP PA 66 BLACK WITH TRANSPORTER, CADDY, LT 172
SEALING

38047610 6U0867276A INTERIOR TRIM CLIP @ 8,0 MM POM GREY CADDY 173

38047930 7H0843514 ALT INTERIOR TRIM CLIP POM NATURAL WITH TRANSPORTER 174
RUBBER LIP

new

71




IMS

Verbindungstechnik

VW

Index, ordered by IMS-article numbers

IMS no. Orig. no. Product Description Vehicle Types Pict. no.

38062390 703883932 INTERIOR TRIM CLIP @ 8,0 - 8,2 MM POM CADDY, EUROVAN, TRANSPORTER 175
BLACK

38067490 N90855801 INTERIOR TRIM CLIP @ 11,5- 12,5 MM PA66 | EUROVAN, TRANSPORTER 176
NATURAL

38068570 2E1827649 INTERIOR TRIM CLIP @ 8,1 - 8,5 MM POM CRAFTER 177
NATURE WITH SEALING BLACK

39048120 N0143781 UPHOLSTERY CLIP ZINC-PLATED UNCO- TYP2 178
LOURED PASSIVATED

39048160 130863265 INTERIOR TRIM CLIP ZINC-PLATED UNCO- CADDY 179
LOURED PASSIVATED

40024560 N90712801 MOULDING CLIP PHOSPHATED IMPREG- LT 180
NATED

41040380 803853139C MOULDING CLIP PA 66 RED CADDY 181

41044740 191853733A ROOF DRIP MOULDING CLIP POM NATURAL | CADDY 182

41046410 6K9853733A ROOF MOULDING CLIP POM NATURAL CADDY 183

41047710 2E1867289D CLAMP BLACK CRAFTER 184

47045720 N10209005 RETAINING NUT STEEL M10 KW 16 LT, TRANSPORTER 185

47045740 N0221464 RETAINING NUT STEEL M8 KW 13 COP- CADDY, EUROVAN, LT, TRANSPORTER 186
PER-PLATED

47045990 N90226403 FLANGE NUT SELF-LOCKING M8 KW 13 EUROVAN, TRANSPORTER 187

47046050 N90085001 RETAINING NUT STEEL M8 KW 12 COP- CADDY, EUROVAN, LT, TRANSPORTER 188
PER-PLATED

48000520 113707191C SCREW FOR BUMPER M8 X 15 CADDY, TYP 2 189

48045900 N90740701 SPECIAL SCREW BLACK CADDY, TRANSPORTER 190

48046240 N10309101 SELF-TAPPING SCREW WITH WASHER TRANSPORTER 191
BLACK

48046350 N90775001 SELF-TAPPING SCREW 4,8 X 16 WITH LT, TRANSPORTER 192
WASHER ZINC-PLATED BLACK CHROME-3

48046450 3A0601139 WHEEL BOLT M12 X 1,5 X 22,5 MM KW 17 CADDY 193
ZINC-PLATED UNCOLOURED

48046520 N0159461 SELF-TAPPING SCREW HEXAGON HEAD 6,3 | CADDY, LT 194
X 19 KW 10 ZINC-PLATED

48046530 N0438851 SELF-TAPPING SCREW HEXAGON HEAD 4,8 | CADDY 195
X 19 SW 8 ZINC-PLATED

48048040 N90206103 HEXAGONAL HEAD BOLT M10 X 1 X 19,5 KW | CADDY, EUROVAN, LT, TRANSPORTER 196
17 12.9 MICRO SAVING

48048270 701601139B WHEEL BOLT M14 X 1,5 X 34,5 MM KW 19 EUROVAN, TRANSPORTER 197
ZINC-NICKEL PLATED BLACK

48048280 7M3601139B WHEEL BOLT M14X1,5X37 KW 19 GEOMET TRANSPORTER 198

48048460 N10507202 TRUSS HEAD SCREW M5 X 20,0 ZINC CAMPMOBIL, TRANSPORTER 199
NICKEL BLACK

48048550 N90775801 TRUSS HEAD SCREW M5 X 19,0 DELTA PRO- | AMAROK 200
TEKT BLACK

61048500 018321377B OIL DRAIN PLUG M10 X 1,0 ZINC NICKEL AMAROK 201

61048480 01Vv409057 OIL DRAIN PLUG M18 X 1,5 ZN NI AMAROK 202

61047520 059103193 SCREW PLUG M26 X 1,5 X 16 KW 17 ZINC- EUROVAN, TRANSPORTER, LT 203
PLATED

51042820 171807269B BUMPER CLIP BLACK CADDY 204

61048530 N90281802 OIL DRAIN PLUG M10 X 1,0 X 13,0 INKL. SEA- | AMAROK, CADDY, CAMPMOBIL, CRAFTER, 205
LING SAVEIRO, TRANSPORTER

61044440 N90813201 SCREW PLUG M14 X 1,5 X 22 KW 19 ZINC-NI- | CAMPMOBIL, EUROVAN, TRANSPORTER 206
CKEL

61048570 N90856001 OIL DRAIN PLUG M14 X 1,5 X 17,0 SAVEIRO 207

61048580 N91167901 OIL DRAIN PLUG M14 X 1,5 X 12,0 AMAROK, TRANSPORTER 208

61048690 N91103401 OIL DRAIN PLUG M10 X 1,0 X 13 ZINC NICKEL | CADDY 209

62045880 6K0819285 SCRIVET SQUARE 7,5 X 8,0 MM PA 6 BLACK | CADDY 210

62047530 70186729901C SCRIVET @ 8,0 MM PA 66 BLACK CADDY, TRANSPORTER, LT 211

62048210 701867299EU71 SCRIVET PA 66 GREY TRANSPORTER 212

6204821A 701867299E9B9 SCRIVET PA 66 BLACK TRANSPORTER 213

72

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new



VW

IM

S

Verbindungstechnik

Index, ordered by IMS-article numbers

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

IMS no. Orig. no. Product Description Vehicle Types Pict. no.

62075750 7L6868307 SCRIVET @ 6,1 - 6,3 MM PA 66 FG 30 BLACK CAMPMOBIL 214

64001216 N0138182 COPPER SEALING RING DIN 7603 12 X 16 X CADDY, LT 215
15

6424001A N0138492 SEALING RING COPPER 14,0 X 20,0 X 1,5 CADDY, EUROVAN, L80, LT, TRANSPORTER, |216

TYP2

6427001A N0138271 SEALING RING COPPER 22,0 X 27,0 X 1,5 L80, TRANSPORTER 217

69047970 N90648704 SCREW WITH FLANGE HEAD 4,8 X 16 TRANSPORTER 218
ZINC-NICKEL BLACK

69048010 N90808201 SCREW WITH FLANGE HEAD 6,0 X 18,5 MM CADDY, TRANSPORTER 219
DELTA SEAL BLACK LUBRICATED

71044700 701863841 TURNING PLUG POM 550 BLACK EUROVAN, TRANSPORTER 220

74044450 701941141A HEADLAMP ADJUSTING SCREW TRANSPORTER 221

99045430 1HO0837187A WINDOW CLIP PA 6 BLACK CADDY 222

75063440 1H0971848Q LAYING AID METAL CONTAINING ANTI-COR- | CADDY 223
ROSION COATING 2.0 SILVER

75071440 4B0971848 LAYING AID POM BLACK WITH VARIABLE AMAROK, LT, SAVEIRO 224
FOOT

82001420 N0138493 ALUMINIUM RING DIN 7603A 14,0 X 20,0x 1,5 | CADDY, CRAFTER, LT 225

82001822 N0138321 ALUMINIUM RING DIN 7603A 18,0 X 22,0 X 1,5 | CADDY, L80, LT 226

91040070 133823717 WEATHER STRIP CLIP PA 6 WHITE CADDY 227

91044130 251823717 WEATHER STRIP CLIP PA 665 BLACK TYP 2 228

91044860 3B0839723 WEATHER STRIP CLIP PA 66 GREY TRANSPORTER 229

91045890 6K0823717 WEATHER STRIP CLIP PA 6 BLACK CADDY 230

91047700 7H0837485 WEATHER STRIP CLIP POM NATURAL TRANSPORTER, TYP 2, LT 231

73047840 N90847501 TURNING PLUG HOLDER DELTA TONE TRANSPORTER 232
SILVER

99046790 357837242 SPECIAL CLIP COLOURLESS CADDY 233

99047130 191881213909 SLIDER COLOURLESS CADDY 234

99048810 4D0611715B FASTENING CLAMP BLACK (VW T-630) AMAROK, CADDY, CAMPMOBIL, CRAFTER, 235

EUROVAN, CRAFTER, LT, TRANSPORTER
RS044660 251863987A, CLIP BLACK POM 130 BLACK TYP 2, TRANSPORTER 236
251863987

RS045070 1J0971921C SPECIAL FASTENER PA 66 BLACK CADDY 237

RS048620 WHT004694 SPEED NUT ST. 4,8 MM METAL CONTAINING | SAVEIRO 238
ANTI-CORROSION COATING BLACK

RS060560 3D0971830F SPECIAL FASTENER PA 6 BLACK CAMPMOBIL 239

RS061170 N90685101 SPECIAL FASTENER FOR HOLE 6,5- 6,7 MM | CAMPMOBIL, TRANSPORTER 240
PA 66 BLACK

RS064660 N90697901 CABLE HOLDER PA 66 BLACK FOR CABLE @ | SAVEIRO 241
15,5-16,1 MM

RS066800 111837361 SPECIAL PART PHOSPHATED PAINTED TYP 2 242
BLACK

RS067180 N90698101 CABLE HOLDER PA 66 BLACK AMAROK, EUROVAN, TRANSPORTER 243

RS068600 N90698001 TUBE HOLDER PA 66 BLACK SAVEIRO 244

new

73




IMS

Verbindungstechnik

VW

Index, ordered by original numbers

Orig. no. IMS no. Product Description Vehicle Types Pict. no.

018321377B 61048500 OIL DRAIN PLUG M10 X 1,0 ZINC NICKEL AMAROK 201

01Vv409057 61048480 OIL DRAIN PLUG M18 X 1,5 ZN NI AMAROK 202

032972821 13064490 ROD HOLDER @ 9,6 - 10,2 MM PA 622 BLACK | EUROVAN, TRANSPORTER 74

037133335B 0206222A HOLE PLUG @ 11,0 - 11,2 MM PE LD BLACK TRANSPORTER 17

059103193 61047520 SCREW PLUG M26 X 1,5 X 16 KW 17 ZINC- EUROVAN, TRANSPORTER, LT 203
PLATED

06B971845 13006990 ROD HOLDER 2-FOLD @ 4,0 - 6,0 MM POM CADDY 67
BLACK

073201368M 28060670 TURNABLE PIPE AND CABLE HOLDER POM |LT 114
BLACK

111837361 RS066800 SPECIAL PART PHOSPHATED PAINTED TYP2 242
BLACK

111837421 37008030 DOUBLE U CLIP PHOSPHATED PAINTED TYP2 154
BLACK IMPREGNATED

113707191C 48000520 SCREW FOR BUMPER M8 X 15 CADDY, TYP 2 189

133823717 91040070 WEATHER STRIP CLIP PA 6 WHITE CADDY 227

155809966 32160010 SCREW GROMMET ST. 4,2 MM PA 66 CADDY 140
NATURAL

155867199 32047140 SCREW GROMMET ST. 6,3 MM PA 66 CADDY 134
NATURAL

161867299 2302100C PLASTIC SPREAD RIVET BLACK TRANSPORTER 99

16186729901C 2302100C PLASTIC SPREAD RIVET BLACK TRANSPORTER 99

165827592 32044880 SCREW GROMMET ST. 4,2 MM PA 66 BEIGE | AMAROK 128

171201969 22045280 PLASTIC NUT M5 PA 6 GF 30 BLACK TRANSPORTER, TYP 2 89

171807249A 38040430 INTERIOR TRIM CLIP @& 8,2 - 8,2 MM PA 66 TYP 2 162
NATURAL

171807269B 51042820 BUMPER CLIP BLACK CADDY 204

171837199 13044770 DOOR LINKAGE CLIP @ 4,0 MM POMWHITE | TRANSPORTER, TYP 2 69

171853615A 34040850 GROMMET PE LD BLACK EUROVAN, TRANSPORTER, LT, TYP 2 147

171853695A 23040120 PLASTIC SPREAD RIVET BLACK TYP 2 101

171867299B 38042490 INTERIOR TRIM CLIP @ 7,9 MM PA 66 LT, CADDY, EUROVAN, TRANSPORTER, TYP | 163
NATURAL 2

171885767 23040250 PLASTIC SPREAD RIVET BLACK LT 102

171971847 14006700 CABLE CLAMP PA 601 RED CADDY, SAVEIRO 83

171971847A 14043370 CABLE CLAMP PA 6 NATURAL SAVEIRO 84

181971847 1400119L CABLE CLAMP @ 7,0 MM PA 6 BLACK SAVEIRO 81

191853615A 3404085A GROMMET PE LD BLUE TRANSPORTER, TYP 2 148

191853733A 41044740 ROOF DRIP MOULDING CLIP POM NATURAL | CADDY 182

191867199 02010120 FIRTREE CLIP @ 7,9 -8,1 MM PE LD BLACK CADDY, TRANSPORTER 8

191881213909 99047130 SLIDER COLOURLESS CADDY 234

191955980 28062750 TURNABLE PIPE AND CABLE HOLDER CADDY 117
BLACK

1C0867388 3306799A PLUG-IN CLIP ZINC-PLATED UNCOLOURED | CADDY, CAMPMOBIL 146
PASSIVATED

1C0971845 13068800 ROD HOLDER POM BLACK AMAROK 77

1HO837187A 99045430 WINDOW CLIP PA 6 BLACK CADDY 222

1H0837719 02044790 INTERIOR TRIM CLIP POM BLACK WITH TRANSPORTER 11
GROMMET PE-LD NATURAL

1H0853120 32045460 SCREW GROMMET ST. 2,9 MM PA 6 GREY CADDY 132

1H0867199 02045500 HOLE PLUG @ 10,5 - 10,7 MM PE LD BLACK TRANSPORTER 12

1H0971848Q 75063440 LAYING AID METAL CONTAINING ANTI-COR- | CADDY 223
ROSION COATING 2.0 SILVER

1J0858137B 33066430 PLUG-IN CLIP METAL CONTAINING ANTI CAMPMOBIL 144
CORROSION COATING 3.0 SILVER

130863265 39048160 INTERIOR TRIM CLIP ZINC-PLATED UNCO- CADDY 179
LOURED PASSIVATED

1J0971921C RS045070 SPECIAL FASTENER PA 66 BLACK CADDY 237

74

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new



VW

IM

S

Verbindungstechnik

Index, ordered by original numbers

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

Orig. no. IMS no. Product Description Vehicle Types Pict. no.

211837223 05000910 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | TYP 2 26
LOURED PASSIVATED

211853615 34061670 GROMMET PE 181 NATURAL CADDY, TYP 2, TRANSPORTER 150

251823717 91044130 WEATHER STRIP CLIP PA 665 BLACK TYP2 228

251863987 RS044660 CLIP BLACK POM 130 BLACK TYP 2, TRANSPORTER 236

251863987A RS044660 CLIP BLACK POM 130 BLACK TYP 2, TRANSPORTER 236

251867299 02007360 HOLE PLUG @ 8,1 - 8,3 MM PA 66 LIGHT- TYP2 5
GREY

25186729901C 0200736B HOLE PLUG @ 8,1 - 8,3 MM PA 66 BLACK TYP2

2518672992VA 0200736A HOLE PLUG @ 8,1 - 8,3 MM PA 66 BEIGE TYP 2

251971739A 19060650 ADHESIVE CLIP @ 8,0 MM ALUMINIUM LT 86

2D0971789A 28006780 TURNABLE PIPE AND CABLE HOLDER POM | CRAFTER 110
BLACK

2D0971789F 13064610 PIPE HOLDER 2-FOLD @ 4,75 + 6,0 MM POM | LT 75
NATURAL

2E0867059 38032210 INTERIOR TRIM CLIP @ 8,1 - 8,5 MM POM CRAFTER 159
NATURAL

2E1827649 38068570 INTERIOR TRIM CLIP @ 8,1 - 8,5 MM POM CRAFTER 177
NATURE WITH SEALING BLACK

2E1857784 23025520 PLASTIC SPREAD RIVET BLACK CRAFTER 100

2E1867289D 41047710 CLAMP BLACK CRAFTER 184

311821143 20000490 SCREW WITH WASHER 7976 6,3 X 19 TRANSPORTER, TYP 2 88
WASHER 1,6 X 18 ZINC-PLATED UNCO-
LOURED

311881247 37044470 U CLIP 2,5 MM PHOSPHATED IMPREGNATED | CADDY, TYP 2, TRANSPORTER 156

321867299B 38044610 INTERIOR TRIM CLIP @ 7,0 - 7,2 MM PA 66 TRANSPORTER 167
NATURAL

357837242 99046790 SPECIAL CLIP COLOURLESS CADDY 233

357853586D neu 34044080 GROMMET TPE-E 55 BLACK EUROVAN, TRANSPORTER 149

35786311901C 02005550 FIR TREE CLIP & 6,0 - 6,2 MM PE LD BLACK CADDY 4

357867646 02045670 HOLE PLUG PA 66 BLACK LT, TRANSPORTER, CADDY 13

357868143 32044920 SCREW GROMMET ST. 4,8 MM PA 6 GREY TRANSPORTER 129

3A0601139 48046450 WHEEL BOLT M12 X 1,5 X 22,5 MM KW 17 CADDY 193
ZINC-PLATED UNCOLOURED

3B0837111B41 02047750 HOLE PLUG PP BLACK CADDY 16

3B0839723 91044860 WEATHER STRIP CLIP PA 66 GREY TRANSPORTER 229

3B0867190 33066560 PLUG-IN CLIP PHOSPHATED PAINTED TRANSPORTER 145
YELLOW

3D0971830F RS060560 SPECIAL FASTENER PA 6 BLACK CAMPMOBIL 239

3D0971838 12047100 CABLE STRIP 150 X 4,6 MM PA 66 BLACK TRANSPORTER 63
FOR COARSE THREAD BOLT

441955973B 22045730 PLASTIC NUT 5,0 PA 66 BLACK CADDY 90

441971848A 28063860 TURNABLE PIPE AND CABLE HOLDER POM | SAVEIRO 119
BLACK

443857847B4PK 00046730 BELT RIVET BASE POM BLACK CADDY, LT, T2, TRANSPORTER 1

443857847B4PK 00046740 BELT RIVET TOP POM BLACK CADDY, LT, T2, TRANSPORTER 2

443867299 38044510 INTERIOR TRIM CLIP @ 8,0 MM POM TRANSPORTER 165
NATURAL

477857821 34063170 GROMMET PE LD NATURAL CADDY 151

477971851 1400119Q CABLE CLAMP PA 6 GREY CADDY, SAVEIRO 82

4A0867276A 33047340 PLUG-IN CLIP GEOMET CAMPMOBIL 141

4A0867276B 33048450 PLUG-IN CLIP GEOMET CADDY 142

4B0971848 75071440 LAYING AID POM BLACK WITH VARIABLE AMAROK, LT, SAVEIRO 224
FOOT

4D0611715B 99048810 FASTENING CLAMP BLACK (VW T-630) AMAROK, CADDY, CAMPMOBIL, CRAFTER, 235

EUROVAN, CRAFTER, LT, TRANSPORTER
4D0863788 23073990 PLASTIC SPREAD RIVET BLACK CAMPMOBIL, TRANSPORTER 106
533853139 32046510 SCREW GROMMET BLACK CADDY 133

new

75




IMS

Verbindungstechnik

VW

Index, ordered by original numbers

Orig. no. IMS no. Product Description Vehicle Types Pict. no.

6K0819285 62045880 SCRIVET SQUARE 7,5 X 8,0 MM PA 6 BLACK | CADDY 210

6K0823717 91045890 WEATHER STRIP CLIP PA 6 BLACK CADDY 230

6K0868243 38046540 INTERIOR TRIM CLIP POM BLACK CADDY 171

6K9853733A 41046410 ROOF MOULDING CLIP POM NATURAL CADDY 183

6N0809966A 32047590 SCREW GROMMET ST. 4,8 MM PA 6 FG 30 SAVEIRO 137
BLACK

6N0867190 33064900 PLUG-IN CLIP PHOSPHATED IMPREGNATED | CADDY 143

60Q0131927 13064700 ROD HOLDER 2-FOLD @ 4,75 MM PA 12 CADDY 76
BLACK

6Q0868243 38046400 INTERIOR TRIM CLIP POM/ PA 66 BLACK CRAFTER 170

6Q0877244B 1600902A CABLE CLIP @ 9,0-10,0 MM METAL CON- TRANSPORTER 85
TAINING ANTI-CORROSION COATING 2.0
SILVER

6Q0971845C 37048380 U-CLIP SPECIAL METALLIC CORROSION CADDY 157
PROTECTION COATED BLACK

6U0867276A 38047610 INTERIOR TRIM CLIP @ 8,0 MM POM GREY CADDY 173

6U0971739F 1400119Q CABLE CLAMP PA 6 GREY CADDY, SAVEIRO 82

701422921 28060310 TURNABLE PIPE AND CABLE HOLDER POM | AMAROK, TRANSPORTER 113
BLACK

701601139B 48048270 WHEEL BOLT M14 X 1,5 X 34,5 MM KW 19 EUROVAN, TRANSPORTER 197
ZINC-NICKEL PLATED BLACK

701611963 28062300 TURNABLE PIPE AND CABLE HOLDER POM | EUROVAN, TRANSPORTER 116
BLACK

701821841 37008290 U CLIP 4,5 - 6,5 MM METAL CONTAINING EUROVAN, TRANSPORTER 155
ANTI-CORROSION COATING 2.2 BLACK

701837199A 13060160 ROD HOLDER @ 3,9 - 4,0 MM POM BLACK TRANSPORTER 72

701853585 38044090 INTERIOR TRIM CLIP POM 309 NATURAL TRANSPORTER 164

701863841 71044700 TURNING PLUG POM 550 BLACK EUROVAN, TRANSPORTER 220

701864445B 32034320 SCREW GROMMET ST. 4,2 MM PA 66 CAMPMOBIL 125
NATURAL

70186729901C 62047530 SCRIVET @ 8,0 MM PA 66 BLACK CADDY, TRANSPORTER, LT 211

701867299E9B9 6204821A SCRIVET PA 66 BLACK TRANSPORTER 213

701867299EU71 62048210 SCRIVET PA 66 GREY TRANSPORTER 212

701867549 38044580 INTERIOR TRIMCLIP @ 8,1 - 8,3 MM POM TRANSPORTER 166
BLACK

701941141A 74044450 HEADLAMP ADJUSTING SCREW TRANSPORTER 221

703867299 38044710 INTERIOR TRIM CLIP @ 7,8 - 8,0 MM PA 66 TRANSPORTER 168
BLACK

703883932 38062390 INTERIOR TRIM CLIP @ 8,0 - 8,2 MM POM CADDY, EUROVAN, TRANSPORTER 175
BLACK

703885447 37005760 U CLIP 3,0 - 4,0 MM PHOSPHATED IMPREG- EUROVAN, TRANSPORTER 152
NATED

7D0971848E 13073030 ROD HOLDER 2-FOLD @ 15,0 - 17,0 MM + 6,0 EUROVAN, TRANSPORTER 80
MM POM BLACK

7H0837485 91047700 WEATHER STRIP CLIP POM NATURAL TRANSPORTER, TYP 2, LT 231

7H0843514 ALT 38047930 INTERIOR TRIM CLIP POM NATURAL WITH TRANSPORTER 174
RUBBER LIP

7HO0843658A 38047380 INTERIOR TRIM CLIP PA 66 BLACK WITH TRANSPORTER, CADDY, LT 172
SEALING

706868243 38046370 INTERIOR TRIM CLIP POM/ PA 66 BLACK CADDY, CAMPMOBIL 169

7L6868307 62075750 SCRIVET @ 6,1 -6,3 MM PA 66 FG 30 BLACK CAMPMOBIL 214

7M0867299K 38033730 INTERIOR TRIM CLIP @ 8,0 - 8,2 MM POM CAMPMOBIL 160
YELLOW

7M0868563 02047460 HOLE PLUG POM BLACK TRANSPORTER 15

7M3601139B 48048280 WHEEL BOLT M14X1,5X37 KW 19 GEOMET TRANSPORTER 198

7M3915428 32048190 SCREW GROMMET PA 6 BLACK TRANSPORTER 138

801867299 02040410 HOLE PLUG @ 7,8 - 8,0 MM POM BLACK LT, TYP 2 9

803805445B 05062440 PRESTOLE NUT ST. 6,3 MM ROUND ZINC- CADDY 47
PLATED UNCOLOURED PASSIVATED

76

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new



VW

IM

S

Verbindungstechnik

Index, ordered by original numbers

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

Orig. no. IMS no. Product Description Vehicle Types Pict. no.

803853139C 41040380 MOULDING CLIP PA 66 RED CADDY 181

811611797 13048180 PIPE HOLDER 2 FOLD @ 4,75 MM POM CADDY 71
NATURAL

811807577C 32044010 SCREW GROMMET ST. 4,8 MM PA 6 FG 30 CADDY 126
BLACK

823867299 3804004A INTERIOR TRIM CLIP @ 7,8 - 8,0 MM PA 66 TYP2 161
BLACK

865853231A 26044990 SEALING NUT FOR EMBLEM BLACK TYP2 109

8A0971848C 16065190 CABLE CLAMP @ 15,0 - 17,0 MM METAL CON- | LT 87
TAINING ANTI-CORROSION COATING 2.2
BLACK

N0114071 0300102C WELD NUT M8 UNCOATED CADDY, CRAFTER, TYP 2 18

N0120578 0906274A SPRING CLIP ROUND 5,0 MM ZINC PLATED CAMPMOBIL 55
PASSIVATED COLOURLESS

N0138182 64001216 COPPER SEALING RING DIN 7603 12 X 16 X CADDY, LT 215
15

N0138271 6427001A SEALING RING COPPER 22,0 X 27,0 X 1,5 L80, TRANSPORTER 217

N0138321 82001822 ALUMINIUM RING DIN 7603A 18,0 X 22,0 X 1,5 | CADDY, L80, LT 226

N0138492 6424001A SEALING RING COPPER 14,0 X 20,0 X 1,5 CADDY, EUROVAN, L80, LT, TRANSPORTER, |216

TYP2

N0138493 82001420 ALUMINIUM RING DIN 7603A 14,0 X 20,0x 1,5 | CADDY, CRAFTER, LT 225

N0143781 39048120 UPHOLSTERY CLIP ZINC-PLATED UNCO- TYP 2 178
LOURED PASSIVATED

N0154227 0504373A SPEED NUT ST. 4,2 MM DELTA PROTEKT + CAMPMOBIL, L80, TRANSPORTER, TYP 2 39
DELTA SEAL LUBRICATED BLACK

N0154272 05000140 SPEED NUT ST. 4,8 MM ZINC-PLATED UNCO- | LT, TYP 2 24
LOURED PASSIVATED

N0154292 05000070 SPEED NUT ST. 4,2 MM ZINC-PLATED UNCO- | SAVEIRO 21
LOURED PASSIVATED

N0154296 0500007D SPEED NUT ST. 4,2 MM METAL CONTAINING | EUROVAN, TRANSPORTER 22
ANTI-CORROSION COATING BLACK LUBRI-
CATED

N0154322 05000190 SPEED NUT ST. 6,3 MM ZINC-PLATED UNCO- | TYP 2 25
LOURED PASSIVATED

N0154373 05061200 SPEED NUT ST. 4,8 MM METAL CONTAINING | LT 45
ANTI-CORROSION COATING SILVER

N0154374 0500786A SPEED NUT ST. 4,8 MM METAL CONTAINING | LT 32
ANTI-CORROSION COATING 2.2 BLACK

N0154391 05061580 SPEED NUT ST. 4,8 MM METAL CONTAINING | LT, TYP 2 46
ANTI-CORROSION COATING BLACK

N0154457 0500011D SPEED NUT ST. 4,8 MM METAL CONTAINING | CRAFTER, TYP 2 23
ANTI-CORROSION COATING BLACK LUBRI-
CATED

N0154487 05047650 SPEED NUT ST. 4,2 MM DELTA SEAL BLACK SAVEIRO, TYP 2 42

N0154491 05044100 SPEED NUT ST. 6,3 MM METAL CONTAINING | LT 40
ANTI-CORROSION COATING 2.2 SILVER
LUBRICATED

N0154581 0500107AW SPEED NUT ST. 4,8 MM ZINC-PLATED L80, TYP 2 27
YELLOW

N0154681 05064040 SPEED NUT ST. 6,3 MM ZINC-PLATED UNCO- | EUROVAN, TRANSPORTER 49
LOURED PASSIVATED

N0154931 05007250 SPEED NUT ST. 3,5 MM HALF PHOSPHATED | EUROVAN, TRANSPORTER 31
IMPREGNATED

N0159461 48046520 SELF-TAPPING SCREW HEXAGON HEAD 6,3 | CADDY, LT 194
X 19 KW 10 ZINC-PLATED

N0209063 12008540 CABLE STRIP 459 X 6,0 MM PA 66 BLACK LT 64

N0221464 47045740 RETAINING NUT STEEL M8 KW 13 COP- CADDY, EUROVAN, LT, TRANSPORTER 186
PER-PLATED

N0385011 ALT 23003080 PLASTIC SPREAD RIVET BLACK TRANSPORTER 93

N0385012 2300308A PLASTIC SPREAD RIVET BLACK TRANSPORTER 94

new

77




IMS

Verbindungstechnik

VW

Index, ordered by original numbers

Orig. no. IMS no. Product Description Vehicle Types Pict. no.

N0385031 23005540 PLASTIC SPREAD RIVET BLACK LT, CADDY 95

N0385051 2300640A PLASTIC SPREAD RIVET BLACK CADDY 96

N0385053 2300640A PLASTIC SPREAD RIVET BLACK CADDY 96

N0385501 23020410 PLASTIC SPREAD RIVET BLACK LT, TRANSPORTER, CADDY 98

N0438851 48046530 SELF-TAPPING SCREW HEXAGON HEAD 4,8 | CADDY 195
X 19 SW 8 ZINC-PLATED

N0454271 05066660 SPEED NUT ST. 4,2 MM METAL CONTAINING | TRANSPORTER 53
ANTI-CORROSION COATING 2.0 SILVER

N10186701 28062250 TURNABLE PIPE AND CABLE HOLDER LT 115
2-FOLD POM BLACK

N10209005 47045720 RETAINING NUT STEEL M10 KW 16 LT, TRANSPORTER 185

N10219501 23011020 PLASTIC SPREAD RIVET BLACK LT 97

N10259301 2300154A PLASTIC SPREAD RIVET BLACK CRAFTER 92

N10275101 28068950 TURNABLE PIPE AND CABLE HOLDER POM | LT 122
BLACK

N10291801 28067680 TURNABLE PIPE AND CABLE HOLDER POM | LT 120
BLACK

N10307401 37005790 U CLIP 2,8 - 3,0 MM METAL CONTAINING EUROVAN, TRANSPORTER 153
ANTI-CORROSION COATING 2.2 BLACK

N10309101 48046240 SELF-TAPPING SCREW WITH WASHER TRANSPORTER 191
BLACK

N10318001 32048260 SCREW GROMMET NATURAL CRAFTER 139

N10335501 28008690 TURNABLE PIPE AND CABLE HOLDER POM | TRANSPORTER 112
BLACK

N10424501 13009530 ROD HOLDER @ 26,0 MM PA 66 BLACK LT 65

N10429001 28074230 TURNABLE PIPE AND ROD HOLDER POM/ PA | CAMPMOBIL, TRANSPORTER 124
12 BLACK

N10431201 28008660 TURNABLE PIPE AND CABLE HOLDER POM | CADDY, TRANSPORTER 111
BLACK

N10436201 28063080 TURNABLE PIPE AND CABLE HOLDER POM | CADDY 118
BLACK

N10436401 28073970 TURNABLE PIPE AND ROD HOLDER PA 66/ | CAMPMOBIL 123
POM BLACK

N10446801 28068940 TURNABLE PIPE AND CABLE HOLDER PA 66 | CADDY 121
BLACK

N10507202 48048460 TRUSS HEAD SCREW M5 X 20,0 ZINC CAMPMOBIL, TRANSPORTER 199
NICKEL BLACK

N10507301 32047480 SCREW GROMMET PA 6 MF 40 BROWN WITH | CADDY 136
RUBBER LIP BLACK

N10516801 32047270 SCREW GROMMET ST. 4,8 MM PA 6 CAMPMOBIL 135
NATURAL WITH RUBBER LIP BLACK

N10576301 1306915A ROD HOLDER 2-FOLD @ 10,0 MM PA 66 CADDY, CRAFTER 78
BLACK

N10583501 23062350 PLASTIC SPREAD RIVET BLACK CADDY 105

N90057901 05040900 SPEED NUT ST. 4,2 MM PHOSPHATED IMP- CADDY 37
REGNATED

N90074301 05042200 SPEED NUT ST. 3,9 MM ZINC-PLATED UNCO- | TRANSPORTER 38
LOURED PASSIVATED

N90085001 47046050 RETAINING NUT STEEL M8 KW 12 COP- CADDY, EUROVAN, LT, TRANSPORTER 188
PER-PLATED

N90091101 12044000 CABLE STRIP 122 X 10,0 MM PA 66 BLACK TRANSPORTER 66
FOR T-BOLT

N90116202 1000176A QUICKY @ 4,0 MM ZINC-PLATED UNCO- TRANSPORTER 56
LOURED PASSIVATED

N90168601 0503201E SPEED NUT M6 METAL CONTAINING CADDY, CAMPMOBIL, EUROVAN, LT, TRANS- | 36
ANTI-CORROSION COATING 2.2 BLACK PORTER, TYP 2
LUBRICATED

N90168602 0503201C SPEED NUT M6 METAL CONTAINING EUROVAN, TRANSPORTER 35
ANTI-CORROSION COATING 2.2 SILVER
LUBRICATED

78

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new



VW

IM

Verbindungstechnik

Index, ordered by original numbers

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

Orig. no. IMS no. Product Description Vehicle Types Pict. no.

N90168604 0503201E SPEED NUT M6 METAL CONTAINING CADDY, CAMPMOBIL, EUROVAN, LT, TRANS- | 36
ANTI-CORROSION COATING 2.2 BLACK PORTER, TYP 2
LUBRICATED

N90201601 0200080A FIR TREE CLIP @ 8,0 - 8,5 MM PE LD BLACK CADDY, TRANSPORTER 3

N90205501 12045040 CABLE STRIP 140 X 4,5 MM WITH MOUNTING | CADDY, EUROVAN, TRANSPORTER, TYP 2 62
BASE PA 66 BLACK

N90206103 48048040 HEXAGONAL HEAD BOLT M10 X 1 X 19,5 KW | CADDY, EUROVAN, LT, TRANSPORTER 196
17 12.9 MICRO SAVING

N90226403 47045990 FLANGE NUT SELF-LOCKING M8 KW 13 EUROVAN, TRANSPORTER 187

N90276701 0504829W SPEED NUT CADDY, EUROVAN, TRANSPORTER 44

N90281802 61048530 OIL DRAIN PLUG M10 X 1,0 X 13,0 INKL. SEA- | AMAROK, CADDY, CAMPMOBIL, CRAFTER, 205
LING SAVEIRO, TRANSPORTER

N90323501 37068010 DOUBLE U CLIP METAL CONTAINING TRANSPORTER 158
ANTI-CORROSION COATING 2.2 BLACK

N90327501 05067030 SPEED NUT M6 SELF-LOCKING METAL CON- | CADDY 54
TAINING ANTI-CORROSION COATING 2.0
SILVER

N90335004 10045110 QUICKY FOR T- BOLT @ 5,0 MM GEOMET LT, TRANSPORTER 58
PLUS

N90342503 05065880 SPEED NUT M6 SELF-LOCKING METAL CON- | CADDY, EUROVAN, TRANSPORTER 51
TAINING ANTI-CORROSION COATING 2.2
SILVER LUBRICATED

N90342504 0506588A SPEED NUT M6 SELF-LOCKING METAL CON- | TRANSPORTER 52
TAINING ANTI-CORROSION COATING 2.2
BLACK LUBRICATED

N90356203 0500798A SPEED NUT M5 SELF-LOCKING METAL CON- | SAVEIRO 33
TAINING ANTI-CORROSION COATING 2.2
SILVER LUBRICATED

N90359101 23052300 PLASTIC SPREAD RIVET BLACK CADDY 104

N90368203 0500482A SPEED NUT M5 SELF-LOCKING METAL CON- | EUROVAN, L80, TRANSPORTER 28
TAINING ANTI-CORROSION COATING 2.2
BLACK LUBRICATED

N90522101 22047800 PLASTIC NUT 5,0 PA 66 BLACK LT, TRANSPORTER, EUROVAN 91

N90526602 05062970 SPEED NUT M4 SELF-LOCKING METAL CON- | TRANSPORTER 48
TAINING ANTI-CORROSION COATING BLACK
LUBRICATED

N90533301 02044730 HOLE PLUG @ 7,9 - 8,1 MM PE BLACK CADDY 10

N90535301 32044940 SCREW GROMMET ST. 3,9/ 4,2 MM PA 66 CADDY 130
GREY

N90536901 23046380 PLASTIC SPREAD RIVET BLACK CADDY, CAMPMOBIL 103

N90541001 32044340 SCREW GROMMET ST. 4,2/ 4,8 MM PA 66 TRANSPORTER 127
COLOURLESS

N90574801 25048250 METRIC FREE SPINNING WASHER NUT M6 CADDY, TRANSPORTER 108
TIN-PLATED WITH RUBBER DISC BLACK

N90576301 04047060 MULTIRANGE BLIND RIVET 4,0 X 9,5 ALUMI- | CADDY, TRANSPORTER 20
NIUM/ STEEL

N90577001 10009980 QUICKY @ 11,5 MM - 12,0 MM PHOSPHATED CADDY 57
IMPREGNATED

N90634901 04043720 BLIND RIVET 4,0 X 14,0 ALUMINIUM/ STEEL TRANSPORTER 19
BLACK

N90648704 69047970 SCREW WITH FLANGE HEAD 4,8 X 16 TRANSPORTER 218
ZINC-NICKEL BLACK

N90666101 1204396C CABLE STRIP 210 X 4,8 MM WITH FOOT @ 6,5 | SAVEIRO, TYP 2 61
MM BLACK

N90681301 13007850 ROD HOLDER @ 6,8 - 7,4 MM PA 66 BLACK TRANSPORTER, TYP 2 68

N90681401 13072420 ROD HOLDER @ 9,6 - 10,2 MM PA 66 BLACK EUROVAN, TRANSPORTER 79

N90681601 13062340 ROD HOLDER @ 15,5 - 16,1 MM PA 66 BLACK | EUROVAN, TRANSPORTER 73

N90681701 13045130 ROD HOLDER @ 20,6 - 21,4 MM PA 66 BLACK | TRANSPORTER 70

N90685101 RS061170 SPECIAL FASTENER FOR HOLE 6,5- 6,7 MM | CAMPMOBIL, TRANSPORTER 240
PA 66 BLACK

new

79




IMS

Verbindungstechnik

VW

Index, ordered by original numbers

Orig. no. IMS no. Product Description Vehicle Types Pict. no.

N90697901 RS064660 CABLE HOLDER PA 66 BLACK FOR CABLE @ | SAVEIRO 241
15,5-16,1 MM

N90698001 RS068600 TUBE HOLDER PA 66 BLACK SAVEIRO 244

N90698101 RS067180 CABLE HOLDER PA 66 BLACK AMAROK, EUROVAN, TRANSPORTER 243

N90698701 0500703B SPEED NUT ST. 4,2 MM SELF-LOCKING CADDY, TRANSPORTER 30
METAL CONTAINING ANTI-CORROSION
SILVER

N90698703 0500703A SPEED NUT ST. 4,2 MM SELF-LOCKING CADDY, CAMPMOBIL 29
METAL CONTAINING ANTI-CORROSION
COATING 2.2 BLACK LUBRICATED

N90698801 0506414B SPEED NUT ST. 4,2 MM SELF-LOCKING CADDY, CAMPMOBIL, SAVEIRO, TRANS- 50
METAL ANTI-CORROSION SILVER PORTER

N90698901 05047960 PRESTOLE NUT ST. 4,2 MM METAL CON- CADDY, TRANSPORTER 43
TAINING ANTI-CORROSION COATING 2.0
SILVER

N90712801 40024560 MOULDING CLIP PHOSPHATED IMPREG- LT 180
NATED

N90714303 25047860 METRIC FREE SPINNING WASHER NUT M6 CADDY, TRANSPORTER 107
ZINC-NICKEL BLACK

N90740701 48045900 SPECIAL SCREW BLACK CADDY, TRANSPORTER 190

N90755701 05024640 SPEED NUT ST. 6,3 MM SELF-LOCKING TRANSPORTER 34
METAL CONTAINING ANTI-CORROSION
COATING 2.0 SILVER

N90775001 48046350 SELF-TAPPING SCREW 4,8 X 16 WITH LT, TRANSPORTER 192
WASHER ZINC-PLATED BLACK CHROME-3

N90775801 48048550 TRUSS HEAD SCREW M5 X 19,0 DELTA PRO- | AMAROK 200
TEKT BLACK

N90796501 10046330 CLAMPING RING FOR T-BOLT @ 5,0 MM CADDY, EUROVAN, TRANSPORTER 59
GEOMET 321 SILVER

N90796502 10047090 CLAMPING RING FOR T-BOLT @ 5,0 MM CADDY, EUROVAN, TRANSPORTER 60
DELTA PROTEKT SILVER

N90808201 69048010 SCREW WITH FLANGE HEAD 6,0 X 18,5 MM CADDY, TRANSPORTER 219
DELTA SEAL BLACK LUBRICATED

N90813201 61044440 SCREW PLUG M14 X 1,5 X 22 KW 19 ZINC-NI- | CAMPMOBIL, EUROVAN, TRANSPORTER 206
CKEL

N90833801 32044960 SCREW GROMMET PA 66 BLACK AMAROK, CADDY 131

N90847501 73047840 TURNING PLUG HOLDER DELTA TONE TRANSPORTER 232
SILVER

N90855801 38067490 INTERIOR TRIM CLIP @ 11,5 - 12,5 MM PA 66 EUROVAN, TRANSPORTER 176
NATURAL

N90856001 61048570 OIL DRAIN PLUG M14 X 1,5 X 17,0 SAVEIRO 207

N90861801 02047040 HOLE PLUG FOR 5,0 THREADED STUD PA 66 | CADDY 14
BLACK

N90959101 05045100 SPEED NUT FOR PT-SCREW METAL CON- CADDY 41
TAINING ANTI-CORROSION COATING 2.1
SILVER LUBRICATED

N91103401 61048690 OIL DRAIN PLUG M10 X 1,0 X 13 ZINC NICKEL | CADDY 209

N91167901 61048580 OIL DRAIN PLUG M14 X 1,5 X 12,0 AMAROK, TRANSPORTER 208

WHT004694 RS048620 SPEED NUT ST. 4,8 MM METAL CONTAINING | SAVEIRO 238
ANTI-CORROSION COATING BLACK

80

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new



IMS

Verbindungstechnik

Iveco

<
=2

<

A
Mercedes Benz

Ford

Fiat Prof

)
T

A

Scania



IMS

Verbindungstechnik

Fiat Prof

Scale 1:1

IMS no.: 02080110
Orig. no.: 14591687
Pict. no.: 1

IMS no.: 02082460
Orig. no.: 7677865
Pict. no.: 5

IMS no.: 02083540
Orig. no.: 735266957

Pict. no.: 9

IMS no.: 02084050
Orig. no.: 735493588
Pict. no.: 13

IMS no.: 02080120
Orig. no.: 14591487
Pict. no.: 2

IMS no.: 02083420
Orig. no.: 7537973
Pict.no.: 6

IMS no.: 02083660
Orig. no.: 130101965

1301788650
Pict. no.: 10

IMS no.: 02084110
Orig. no.: 46804433
Pict. no.: 14

IMS no.: 02080400
Orig. no.: 14592187
Pict. no.: 3

IMS no.: 02083510
Orig. no.: 14593487
Pict. no.: 7

IMS no.: 02083900
Orig. no.: 14592287

Pict. no.: 11

IMS no.: 02084130
Orig. no.: 710353080
Pict. no.: 15

82

IMS no.: 02082450
Orig. no.: 14592587
Pict. no.: 4

IMS no.: 02083530
Orig. no.: 14591987
Pict. no.: 8

IMS no.: 02083990
Orig. no.: 5938093

Pict. no.: 12

IMS no.: 02084220
Orig. no.: 14589987
Pict. no.: 16



IMS

Verbindungstechnik

Fiat Prof

Scale 1:1
IMS no.: 02110910 IMS no.: 05082890 IMS no.: 13083470 IMS no.: 13083790
Orig. no.: 9467047580 Orig. no.: 7740882 Orig. no.: 7743036 Orig. no.: 7769676

60808479

Pict. no.: 17 Pict. no.: 18 Pict. no.: 19 Pict. no.: 20
IMS no.: 13083920 IMS no.: 1400119A IMS no.: 1400119B IMS no.: 1400119D
Orig. no.: 14631387 Orig. no.: 14569580 Orig. no.: 14569680 Orig. no.: 14569980
Pict. no.: 21 Pict. no.: 22 Pict. no.: 23 Pict. no.: 24
IMS no.: 21082990 IMS no.: 23081850 IMS no.: 23083480 IMS no.: 23084000
Orig. no.: 7628035 Orig. no.: 5962559 Orig. no.: 7600779 Orig. no.: 9621837480
Pict. no.: 25 Pict. no.: 26 Pict. no.: 27 Pict. no.: 28
IMS no.: 23111050 IMS no.: 32000750 IMS no.: 32081390 IMS no.: 32082500
Orig. no.: 9467585489 Orig. no.: 4309331 Orig. no.: 4358789 Orig. no.: 14202985
Pict. no.: 29 Pict. no.: 30 Pict. no.: 31 Pict. no.: 32

83



IMS

Verbindungstechnik

_| Fiat Prof

Scale 1:1

IMS no.: 32082510
Orig. no.: 14203587
Pict. no.: 33

IMS no.: 32082640
Orig. no.: 7622606
Pict. no.: 37

IMS no.: 32083670
Orig. no.: 14115980
Pict. no.: 41

IMS no.: 32084120
Orig. no.: 7754387
Pict. no.: 45

IMS no.: 32082530
Orig. no.: 14211580
Pict. no.: 34

IMS no.: 32082650
Orig. no.: 7578051
Pict. no.: 38

IMS no.: 32083810
Orig. no.: 14215480
Pict. no.: 42

IMS no.: 32084150
Orig. no.: 5757553
Pict. no.: 46

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

84

32082540
7663916
35

32083190
14201980
39

32083950
4264257
43

32084210
14203780
47

IMS no.: 32082550
Orig. no.: 14216087
Pict. no.: 36

IMS no.: 32083200
Orig. no.: 46408953
Pict. no.: 40

IMS no.: 32084010
Orig. no.: 51721582
Pict. no.: 44

IMS no.: 38082340
Orig. no.: 14188282
Pict. no.: 48



IMS

Verbindungstechnik

Fiat Prof

Scale 1:1

85



IMS

Verbindungstechnik

Fiat Prof

Scale 1:1

IMS no.: 60082930
Orig. no.: 7603637
Pict. no.: 58

IMS no.: 61083400
Orig. no.: 16993411

Pict. no.: 62

IMS no.: 63082680
Orig. no.: 5981746
Pict. no.: 66

IMS no.: 63082830
Orig. no.: 60517025
Pict. no.: 68

IMS no.: 60083710
Orig. no.: 46532398
Pict. no.: 59

IMS no.: 61083410
Orig. no.: 55189930

7734022
Pict. no.: 63

IMS no.: 6401287A
Orig. no.: 55196309
Pict. no.: 69

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:

Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

IMS no.:
Orig. no.:
Pict. no.:

86

61012870
55196505
60

62083580
7556533

64

63082730
7622907
67

8208340A

10263450
70

IMS no.: 61083390
Orig. no.: 46476967
Pict. no.: 61

IMS no.: 62083850
Orig. no.: 82421028

Pict. no.: 65

IMS no.: 89083170
Orig. no.: 82480023
Pict. no.: 71



IMS

Verbindungstechnik

I Fiat Prof
Scale 1:1




IMS

Verbindungstechnik

Fiat Prof

Index, ordered by IMS-article numbers

IMS no. Orig. no. Product Description Vehicle Types Pict. no.
02080110 14591687 FIR TREE CLIP @ 6,5 MM PA 6 BLACK DOBLO 1
02080120 14591487 FIR TREE CLIP & 8,0 MM PA 6 BLACK DUCATO 2
02080400 14592187 FIR TREE CLIP @ 9,0 MM PA 6 BLACK DUCATO, TALENTO 3
02082450 14592587 HOLE PLUG @ 6,5 MM PA 6 BLACK FIORINO-QUBO 4
02082460 7677865 FIR TREE CLIP & 8,0 MM PA 6 BLACK DOBLO, DUCATO 5
02083420 7537973 HOLE PLUG @ 6,0 MM PA 6 BLACK DUCATO 6
02083510 14593487 HOLE PLUG @ 8,0 MM PA BLACK DUCATO 7
02083530 14591987 HOLE PLUG @ 6,5 MM PA BLACK FIORINO-QUBO 8
02083540 735266957 HOLE PLUG @ 6,5 MM PA 66 BLACK DUCATO 9
02083660 130101965, HOLE PLUG & 8,0 - 9,0 MM PA 6 DARK-GREY | DUCATO 10
1301788650
02083900 14592287 HOLE PLUG @ 6,5 MM PA BLACK DOBLO 11
02083990 5938093 HOLE PLUG PA BLACK DOBLO, DUCATO 12
02084050 735493588 FIR TREE CLIP @ 10,0 MM PA DARK-GREY DOBLO 13
02084110 46804433 HOLE PLUG @ 14,3 X 12,6 MM POM BLACK DUCATO, STRADA 14
02084130 710353080 HOLE PLUG PA 6 BLACK FIORINO-QUBO 15
02084220 14589987 HOLE PLUG PA 6 BLACK DUCATO, STRADA 16
02110910 9467047580 HOLE PLUG @ 4,7 MM PA 66 BLACK SCUDO 17
05082890 7740882, 60808479 SPEED NUT M6 ZINC-PLATED UNCOLOURED | STRADA, DOBLO 18
PASSIVATED
13083470 7743036 LINKAGE HOLDER @ 3,3 MM BLACK STRADA 19
13083790 7769676 ROD HOLDER @ 9,0 MM PA BLACK DOBLO 20
13083920 14631387 ROD HOLDER @ 15,0 MM PA 6 BLACK DOBLO, DUCATO, FIORINO-QUBO, SCUDO, 21
STRADA, TALENTO
1400119A 14569580 CABLE CLAMP @ 7,0 MM PA 6 NATURAL DOBLO 22
1400119B 14569680 CABLE CLAMP @ 9,0 MM PA 6 GREY STRADA, TALENTO 23
1400119D 14569980 CABLE CLAMP @ 13,5 MM PA 6 PINK TALENTO 24
21082990 7628035 STRIP SCREW M6 X 20 KOPF 20 X 20 MM DUCATO, FIORINO-QUBO 25
DACROMET
23081850 5962559 PLASTIC SPREAD RIVET BLACK STRADA 26
23083480 7600779 PLASTIC SPREAD RIVET BLACK DUCATO 27
23084000 9621837480 PLASTIC SPREAD RIVET BLACK SCUDO 28
23111050 9467585489 PLASTIC SPREAD RIVET BLACK SCUDO 29
32000750 4309331 SCREW GROMMET ST. 4,2 MM PA 6 FIORINO-QUBO 30
NATURAL
32081390 4358789 SCREW GROMMET FOR ROUND HOLES PA | FIORINO-QUBO 31
6 BLUE
32082500 14202985 SCREW GROMMET ST. 4,8 MM PA 6 RED TALENTO 32
32082510 14203587 SCREW GROMMET BLACK DUCATO, FIORINO-QUBO 33
32082530 14211580 SCREW GROMMET PA 6 WHITE DOBLO, FIORINO-QUBO 34
32082540 7663916 SCREW GROMMET ST. 6,3 MM PA 6 WHITE DUCATO, FIORINO-QUBO 35
32082550 14216087 SCREW GROMMET ST. 4,8 MM PA 6 BLACK FIORINO-QUBO 36
32082640 7622606 SCREW GROMMET ST. 4,2 MM PA 6 WHITE DOBLO, STRADA 37
32082650 7578051 SCREW GROMMET PA BLACK FIORINO-QUBO, TALENTO 38
32083190 14201980 SCREW GROMMET ST. 5,0 MM PA NATURAL | DOBLO, FIORINO-QUBO, STRADA 39
32083200 46408953 SCREW GROMMET ST. 4,8 MM PA 6 DOBLO, DUCATO 40
NATURAL WITH SEALING
32083670 14115980 SCREW GROMMET ST. 4,8 MM PA 66 DOBLO, DUCATO, STRADA 41
NATURAL
32083810 14215480 SCREW GROMMET ST. 3,5 MM PA 66 DUCATO, FIORINO-QUBO 42
NATURAL
32083950 4264257 SCREW GROMMET ST. 4,8 MM PA 66 BLUE DOBLO 43
32084010 51721582 SCREW GROMMET ST. 4,8 MM PA 6 FG 30 DUCATO 44
RED
32084120 7754387 SCREW GROMMET PA NATURAL FIORINO-QUBO, STRADA 45
32084150 5757553 SCREW GROMMET PA 6 NATURAL FIORINO-QUBO 46

88

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new



Fiat Prof

IM

S

Verbindungstechnik

Index, ordered by IMS-article numbers

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

IMS no. Orig. no. Product Description Vehicle Types Pict. no.

32084210 14203780 SCREW GROMMET ST. 5,6 MM PA 6 DUCATO, FIORINO-QUBO 47
NATURAL

38082340 14188282 INTERIOR TRIM CLIP @ 8,0 MM PA BLUE DOBLO 48

38082350 14187880 INTERIOR TRIM CLIP WHITE DUCATO 49

38082360 7538675 INTERIOR TRIM CLIP @ 8,0 - 8,1 MM POM FIORINO-QUBO 50
BLACK

38083650 71728806 INTERIOR TRIM CLIP @ 8,0 MM NATURAL DUCATO 51
WITH RUBBER SEAL BLACK

38110740 9654280780 INTERIOR TRIM CLIP @ 8,2 MM POM SCUDO 52
NATURAL WITH RUBBER LIP BLACK

38083680 7603825, 7603826 INTERIOR TRIM CLIP 2-PARTS PA 6 DUCATO 53
NATURAL

38110790 0071737918 INTERIOR TRIM CLIP @ 8,0 MM POM DUCATO 54
NATURAL

48013400 13230435 NEU WHEEL BOLT M12 X 1,25 X 22 KW 17 DOBLO 55
DACROMET

48083040 180889580 SCREW FOR BUMPER M10 X 20 DUCATO 56

48083460 7696197 SCREW FOR CYLINDER HEAD 9 x 96 KW 13 DOBLO, STRADA 57
10.9 OILED

60082930 7603637 ENGINE BONNET RUBBER DUCATO, FIORINO-QUBO 58

60083710 46532398 RUBBER BUMPER BLACK WITH ADHESIVE DOBLO 59
STRIP

61012870 55196505 SCREW PLUG M18 X 1,5 X 21 KW 13 ZINC DOBLO, DUCATO 60
PLATED

61083390 46476967 SCREW PLUG M18 X 1,5 X 27 ZINC-PLATED DOBLO, STRADA 61

61083400 16993411 SCREW PLUG M22 X 1,5 X 14,5 ZINC-PLATED | DUCATO 62

61083410 55189930, 7734022 SCREW PLUG M22 X 1,5 X 13 ZINC-PLATED DOBLO, DUCATO, FIORINO-QUBO, SCUDO, 63

STRADA

62083580 7556533 SCRIVET @ 6,2 - 6,5 MM PA 66 BLACK DOBLO 64

62083850 82421028 SCRIVET @ 8,0 MM PA 66 BLACK FIORINO-QUBO 65

63082680 5981746 BUMPER GUIDE PA 6 BLACK FIORINO-QUBO 66

63082730 7622907 GUIDE CLIP 2-PARTS PA 6 BLACK DOBLO, DUCATO 67

63082830 60517025 GUIDE CLIP PA 6 BLACK DOBLO 68

6401287A 55196309 SEALING RING METAL/ RUBBER 18,5 X 26,0 | DOBLO, DUCATO, STRADA 69
X 2,5 ZINC-PLATED YELLOW CHROME-3

8208340A 10263450 SEALING RING ALUMINIUM 22,0 X 30,0 X 1,5 |DUCATO 70

89083170 82480023 RIVET NUT ZINC-PLATED YELLOW DUCATO 71

89083440 15624411 RIVET NUT M6 ZINC-PLATED DOBLO, DUCATO 72

new

89




IMS

Verbindungstechnik

Fiat Prof

Index, ordered by original numbers

Orig. no. IMS no. Product Description Vehicle Types Pict. no.

0071737918 38110790 INTERIOR TRIM CLIP & 8,0 MM POM DUCATO 54
NATURAL

10263450 8208340A SEALING RING ALUMINIUM 22,0 X 30,0 X 1,5 |DUCATO 70

130101965 02083660 HOLE PLUG @ 8,0 - 9,0 MM PA 6 DARK-GREY | DUCATO 10

1301788650 02083660 HOLE PLUG @ 8,0 - 9,0 MM PA 6 DARK-GREY | DUCATO 10

13230435 NEU 48013400 WHEEL BOLT M12 X 1,25 X 22 KW 17 DOBLO 55
DACROMET

14115980 32083670 SCREW GROMMET ST. 4,8 MM PA 66 DOBLO, DUCATO, STRADA 41
NATURAL

14187880 38082350 INTERIOR TRIM CLIP WHITE DUCATO 49

14188282 38082340 INTERIOR TRIM CLIP @ 8,0 MM PA BLUE DOBLO 48

14201980 32083190 SCREW GROMMET ST. 5,0 MM PA NATURAL | DOBLO, FIORINO-QUBO, STRADA 39

14202985 32082500 SCREW GROMMET ST. 4,8 MM PA 6 RED TALENTO 32

14203587 32082510 SCREW GROMMET BLACK DUCATO, FIORINO-QUBO 33

14203780 32084210 SCREW GROMMET ST. 5,6 MM PA 6 DUCATO, FIORINO-QUBO 47
NATURAL

14211580 32082530 SCREW GROMMET PA 6 WHITE DOBLO, FIORINO-QUBO 34

14215480 32083810 SCREW GROMMET ST. 3,5 MM PA 66 DUCATO, FIORINO-QUBO 42
NATURAL

14216087 32082550 SCREW GROMMET ST. 4,8 MM PA 6 BLACK FIORINO-QUBO 36

14569580 1400119A CABLE CLAMP @ 7,0 MM PA 6 NATURAL DOBLO 22

14569680 1400119B CABLE CLAMP @ 9,0 MM PA 6 GREY STRADA, TALENTO 23

14569980 1400119D CABLE CLAMP @ 13,5 MM PA 6 PINK TALENTO 24

14589987 02084220 HOLE PLUG PA 6 BLACK DUCATO, STRADA 16

14591487 02080120 FIR TREE CLIP & 8,0 MM PA 6 BLACK DUCATO

14591687 02080110 FIR TREE CLIP @ 6,5 MM PA 6 BLACK DOBLO

14591987 02083530 HOLE PLUG @ 6,5 MM PA BLACK FIORINO-QUBO 8

14592187 02080400 FIR TREE CLIP & 9,0 MM PA 6 BLACK DUCATO, TALENTO 3

14592287 02083900 HOLE PLUG @ 6,5 MM PA BLACK DOBLO 11

14592587 02082450 HOLE PLUG @ 6,5 MM PA 6 BLACK FIORINO-QUBO

14593487 02083510 HOLE PLUG @ 8,0 MM PA BLACK DUCATO 7

14631387 13083920 ROD HOLDER @ 15,0 MM PA 6 BLACK DOBLO, DUCATO, FIORINO-QUBO, SCUDO, 21

STRADA, TALENTO

15624411 89083440 RIVET NUT M6 ZINC-PLATED DOBLO, DUCATO 72

16993411 61083400 SCREW PLUG M22 X 1,5 X 14,5 ZINC-PLATED | DUCATO 62

180889580 48083040 SCREW FOR BUMPER M10 X 20 DUCATO 56

4264257 32083950 SCREW GROMMET ST. 4,8 MM PA 66 BLUE DOBLO 43

4309331 32000750 SCREW GROMMET ST. 4,2 MM PA 6 FIORINO-QUBO 30
NATURAL

4358789 32081390 SCREW GROMMET FOR ROUND HOLES PA | FIORINO-QUBO 31
6 BLUE

46408953 32083200 SCREW GROMMET ST. 4,8 MM PA 6 DOBLO, DUCATO 40
NATURAL WITH SEALING

46476967 61083390 SCREW PLUG M18 X 1,5 X 27 ZINC-PLATED DOBLO, STRADA 61

46532398 60083710 RUBBER BUMPER BLACK WITH ADHESIVE DOBLO 59
STRIP

46804433 02084110 HOLE PLUG @ 14,3 X 12,6 MM POM BLACK DUCATO, STRADA 14

51721582 32084010 SCREW GROMMET ST. 4,8 MM PA 6 FG 30 DUCATO 44
RED

55189930 61083410 SCREW PLUG M22 X 1,5 X 13 ZINC-PLATED DOBLO, DUCATO, FIORINO-QUBO, SCUDO, 63

STRADA

55196309 6401287A SEALING RING METAL/ RUBBER 18,5 X 26,0 | DOBLO, DUCATO, STRADA 69
X 2,5ZINC-PLATED YELLOW CHROME-3

55196505 61012870 SCREW PLUG M18 X 1,5 X 21 KW 13 ZINC DOBLO, DUCATO 60
PLATED

5757553 32084150 SCREW GROMMET PA 6 NATURAL FIORINO-QUBO 46

5938093 02083990 HOLE PLUG PA BLACK DOBLO, DUCATO 12

5962559 23081850 PLASTIC SPREAD RIVET BLACK STRADA 26

90

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new



Fiat Prof

IM

S

Verbindungstechnik

Index, ordered by original numbers

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

new

Orig. no. IMS no. Product Description Vehicle Types Pict. no.
5981746 63082680 BUMPER GUIDE PA 6 BLACK FIORINO-QUBO 66
60517025 63082830 GUIDE CLIP PA 6 BLACK DOBLO 68
60808479 05082890 SPEED NUT M6 ZINC-PLATED UNCOLOURED | STRADA, DOBLO 18
PASSIVATED
710353080 02084130 HOLE PLUG PA 6 BLACK FIORINO-QUBO 15
71728806 38083650 INTERIOR TRIM CLIP @ 8,0 MM NATURAL DUCATO 51
WITH RUBBER SEAL BLACK
735266957 02083540 HOLE PLUG @ 6,5 MM PA 66 BLACK DUCATO 9
735493588 02084050 FIR TREE CLIP & 10,0 MM PA DARK-GREY DOBLO 13
7537973 02083420 HOLE PLUG @ 6,0 MM PA 6 BLACK DUCATO 6
7538675 38082360 INTERIOR TRIM CLIP @ 8,0 - 8,1 MM POM FIORINO-QUBO 50
BLACK
7556533 62083580 SCRIVET @ 6,2 - 6,5 MM PA 66 BLACK DOBLO 64
7578051 32082650 SCREW GROMMET PA BLACK FIORINO-QUBO, TALENTO 38
7600779 23083480 PLASTIC SPREAD RIVET BLACK DUCATO 27
7603637 60082930 ENGINE BONNET RUBBER DUCATO, FIORINO-QUBO 58
7603825 38083680 INTERIOR TRIM CLIP 2-PARTS PA 6 DUCATO 53
NATURAL
7603826 38083680 INTERIOR TRIM CLIP 2-PARTS PA 6 DUCATO 53
NATURAL
7622606 32082640 SCREW GROMMET ST. 4,2 MM PA 6 WHITE DOBLO, STRADA 37
7622907 63082730 GUIDE CLIP 2-PARTS PA 6 BLACK DOBLO, DUCATO 67
7628035 21082990 STRIP SCREW M6 X 20 KOPF 20 X 20 MM DUCATO, FIORINO-QUBO 25
DACROMET
7663916 32082540 SCREW GROMMET ST. 6,3 MM PA 6 WHITE DUCATO, FIORINO-QUBO 35
7677865 02082460 FIR TREE CLIP @ 8,0 MM PA 6 BLACK DOBLO, DUCATO 5
7696197 48083460 SCREW FOR CYLINDER HEAD 9 x 96 KW 13 DOBLO, STRADA 57
10.9 OILED
7734022 61083410 SCREW PLUG M22 X 1,5 X 13 ZINC-PLATED DOBLO, DUCATO, FIORINO-QUBO, SCUDO, 63
STRADA
7740882 05082890 SPEED NUT M6 ZINC-PLATED UNCOLOURED | STRADA, DOBLO 18
PASSIVATED
7743036 13083470 LINKAGE HOLDER @ 3,3 MM BLACK STRADA 19
7754387 32084120 SCREW GROMMET PA NATURAL FIORINO-QUBO, STRADA 45
7769676 13083790 ROD HOLDER @ 9,0 MM PA BLACK DOBLO 20
82421028 62083850 SCRIVET @ 8,0 MM PA 66 BLACK FIORINO-QUBO 65
82480023 89083170 RIVET NUT ZINC-PLATED YELLOW DUCATO 71
9467047580 02110910 HOLE PLUG @ 4,7 MM PA 66 BLACK SCUDO 17
9467585489 23111050 PLASTIC SPREAD RIVET BLACK SCUDO 29
9621837480 23084000 PLASTIC SPREAD RIVET BLACK SCUDO 28
9654280780 38110740 INTERIOR TRIM CLIP @& 8,2 MM POM SCUDO 52
NATURAL WITH RUBBER LIP BLACK

new

91




IMS

Verbindungstechnik

4 Notes




IMS

Verbindungstechnik

Iveco

<
=2

<

A
Mercedes Benz

Ford

Fiat Prof

O
T

A

Scania



IMS

Verbindungstechnik

I DAF
Scale 1:1




IMS

Verbindungstechnik

DAF

Index, ordered by IMS-article numbers

IMS no. Orig. no. Product Description Vehicle Types Pict. no.

61290010 1982821 OIL DRAIN PLUG PA 6 FG 35 INKL. SEALING | MX11 MOTORS 1 new

95



IMS

Verbindungstechnik

DAF

Index, ordered by original numbers

Orig. no.

IMS no.

Product Description

Vehicle Types

Pict. no.

1982821

61290010

OIL DRAIN PLUG PA 6 FG 35 INKL. SEALING

MX11 MOTORS

1

96

new



IMS

Verbindungstechnik

Iveco

<
=2

<

A
Mercedes Benz

Ford

Fiat Prof

)
T

A

Scania



IMS

Verbindungstechnik

I Scania
Scale 1:1




IMS

Verbindungstechnik

Scania

Index, ordered by IMS-article numbers

IMS no. Orig. no. Product Description Vehicle Types Pict. no.
6129003X 1433641 OIL DRAIN PLUG M24 X 2,0 ZINC PLATED - 1 new
BLACK

99



IMS

Verbindungstechnik

Scania

Index, ordered by original numbers

Orig. no.

IMS no.

Product Description

Vehicle Types

Pict. no.

1433641

6129003X

OIL DRAIN PLUG M24 X 2,0 ZINC PLATED
BLACK

1

100

new



IMS

Verbindungstechnik

Looking for a
fastening solution?
We can help!

www.ims-verbindungstechnik.com



www.ims-verbindungstechnik.com >>>

IMS Verbindungstechnik GmbH & Co. KG * Robert-Bosch-Str. 5 + 74632 Neuenstein *+ Germany
Phone:0049(0)79429131-0+Fax:0049(0)79429131-52+E-Mail:info@ims-verbindungstechnik.com

VKFO0069E






